BE HiE 0791-88195999
K= HIE 0769-28826526
B HaiF: 0592-5703299
KiE EiE: 022-23859635
022-23859637
FEP EBiE: 13708017348
F% E3iE: 05 10-85342005

RITNR TR EEN

TecoNSeries Standard Motor
IEC-60034-30-1 2014/1E3
GB18613-2020/GB3

T

TecoNSeries High Efficiency Motor

IEC-60034-30-1 2014/1E4
GB18613-2020/GB2

{ -
S r‘g\ St




RItlhsE

19565 RTEBRHBRARMIF&E=En.

19655 HEMREANSEE—EEIENEST .
19665 TET AL ( TALEFHAL).

1973F  FokI BRAESSSHL. B, BkESRETR.

CERTIFICATE &%

Thes = 19 carsfy hat

WUXI TECO Electric & Machinery CO. LTD.
Mo 9, Changiang South Road, Wast

)://www.tecochina.net 1979%  ehiF—T B R SASHEMLE LT, s
' 1983%F WEEAATEIN. BRBTERREMALGE. e e v ot

maetson s Cuaiity

19874 Hip [ R SERk STES{EEF AR,

— s 1 “_ ﬁ_
ﬁ: z- A /\ 19915 WMESS R , SASHEMNUETRBTR.
3 EN ,l , i< I | IEI ) I 19914  DRFI I 5o, 1994FRIME ELEH I 5o,

19956 HMIZEEFRE(WESTINGHOUSE) B,

i

20026  FEMFTTEMNE, s s L
20035  FABFTERER. HE—
- e — N ey — -~ 2004F FiEFTTE—T B owe n‘an
F\nEE'$J-LﬁIJlLa:-1956$J L/L%Ulﬁgjﬁﬁg! EQ?ETG% E‘E%)\E %\ g%\ 20044 TFS4RTTERHERT . D;‘E‘;Wm 2:“:4: T
o Nz o 37583 3 - , z 20126 B HIBFURESEAVEIRA S A ST R E R E BRI RS P, = _— @
SR OB BFXRSAEA BEMTRERR SRR ARENESHBNEL RN B . -
. et -3 ~ ~ %&W_
%, B2 5EREATIERE, BaiS L REEE SIS AM. E50E. KK, B
ARTRFERAMZOF L, SRS n RERZBR AL ZSFSHMINNES =re
RIRRE R, HROTEaRES W ZHE, UItee BHL S Bol A BF, B
F—P R, =R ENEPFRR Mm%
LBFRTEEEIERAT REMRELFRA SR EEE A F B KA AEH
bt ETH KT R AT 127965321 S e
FBiE: 021-51168255 *“*"‘“‘“‘m T
Web : http://WWW.teCOChiﬂa.net RUMEL M S WA RESITS W TR GBIT ;ﬁm?$1'::61;m15
i s - W 5o

FREIF AR EESE B REFARHITE,
All date presented is for reference only and subject to change without notice

o s ; .i_% " — 3 -
CNAS o el 5 —IGNet = LU

- S - A (0
o+ 0« PRI SA AL 10007 e
B, itwww oge com.o ~ :

IIIE&IUHEIJJI[H. | .. DEFEEIEDMN .
TECO # ..




= HFZ BRIt

SERIES THREE PHASE INDUCTION MOTORS

H R

Contents

RITNZRES =HR LB

Teco N Series Three Phase Induction Motors

B AREIETeChnical data .. ..o e et et ettt e e e s e s e eaesenneennaen eneee L= ]
IR TR BIOREE DB cussrcsrvvmsotassasmensissssas somscsissesesies ot i s TSR R AR e AR
i NSRRIt e mnmrenm s s R St e s arsee Y
AEGE FEBearing tempPerature S . ... .o oo oo v ce e ves et vee eae sae e ven sen aes eee sne sns see e e senaes 20 LO
T At P EOEE COEhOc e s cwmsas s comaws v v dovau s e G s s A 2
B D A C AT G, scers i smssmiripnsemtmitmens mibtanat ik ens il et i S it e b b e bk st s s LD

EZEDatasheet

Teco N Series Three Phase Induction Motors

FRAEEEHLStandard Motor 380V SOHZ.......oooe oo eee s eeeeereeeseseens e eeseessesanennnnn 1 4=17
Model:TEV 3

BB High Efficiency Motor 380V/50HZ.......c.ccoevveeereeeeieeeieeesieesssees s 18-20
Model:TEV4

SMEZEIOutline

BRREIE

o 2 =HHREBI

BiHkiE: Eirl TEREIEC60034;hEEFIREGBT55
HERE: 380VEHERE

ENESER: 50HZ860HZ

HHHIhEE80.  ~400kW

T 1€ $l: &S TR

HEES: 80~355C

BAIPEEL PS5

EEIHEEIC411

HRIR S P s

iBFt: S.F.1.0(50Hz)rt B EEZEZEFREBRFAEIZ80T

23755 MBI (K EHIEE LR L ) MB35 (K R R L st S £ ),

IMBS(ZKIEEZZ4E), IMVA (I T ) REEHBINSEE

ERT 2B,

NS RASTEERIFE GB18612020 AW, MZR0HZLISM
FEERGEHCALEE, BidGIE HEERER, AELICBHE
e

BRAFRT
B SRR 0%, SRR %N, BER
IR AWEEA0%IAR, (BRI 5%

{EAGFR: =R, TREikSARE

WiHEE: —15~40C

WEEE: AEE0% L FEAEERLE )

BiEE: BH1000m LT

EahAR: BEiiEDh, B22P4skWELLE 4. 688P F#280
Bl b FEcahas .

RESEA: TN EhEEE, HEIRIEFSEBEIRREEE—
i, mEEEE IR 5 el .

BIAR: SEEEREY-ARH

i$%: GB3(IE3) & Munsell 5PB 3/8

GB2(IE4) %7k NO.700 Munsell N5
Bk LERESREHRET RRERTERBAN, ZIELSNE
HETE, IEEHREEESRITIAE.

TECHNICAL DATA

Class: Three phase induction motors

Designstandard: IEC60034GB 755

Rated voltage: 380V or other voltage

Rated frequency:50Hzor 60Hz

Outpuptrang& 0.  ~400kW

Time duty: Continuous S1(S.F1.0)

Frame Nos:80~355C

Protection enclosure:Totally enclosed(IP55)

Cooling method : Self external fan,Surface cooling(IC411)
Stator insulation: Class Finsulation system

Temperature rise: Not to Exceed 80 ¢ Rise by Resistance Methodat
S.F 1.0(50Hz)

Mounting: IMB3,IMB35,IMB5,IMV1 or others For typical performance
and dimensions of series motor refer to table hereunder.

® GB18613-2020,Frame frequency beyond 50Hz is not the part
of GB. If GBcharater does not correspond@® IE  ,GB charater
govemns.

APPLICATION

Power source conditions: Voltage: +10%,Frequency:+5%,
and 10% Max.of Combined Voltage and Frequency . But Frequency
Variation Does Not Exceed +5%.
Place: In door,Non-hazardous
Ambient temperature: -15~40¢
Relative humidity: Less than 90%RH(Non-condensation)
Altitude: Less than 1,000 meters
Drive method: Belt Service,However ,2 Pole 45 kW and Up,
4. 6&8Pole F# 280 and Above Coupling Service is the Way.
Direction of rotation: CW According to IEC Definition, Suitable
For Bi-Directional Operation.
Method of starting: Full voltage direct on line or Y-Astarting
paninting: GB3(IE3) Purple-Munsell 5PB 3/8

GB2(IE4) Light-Gray- NO.700 Munsell N5
Requirement: Basically,the coupling and belt should be heated and
pushed onto the shaft extention with slight axial fora,Do not
hammer to prevent bearing damage.if need special requirement,
further disscussion will be demanded
Drive method: Belt,direct coupling.gear and so on



FEHIFR
PS5BS, B, BT R R, TR 28 S H03R A 7
SETE, R EARMYE

RERTFRLS MAES NEAERLEFHKES
HIFB TR
RSB ZHRERW ZEW HEEARE

FEHREITH MR EL BRI TIREMTENRE
RIEAR, XERIEMESIRI BE K. R0 R

PR RIER P R EPHBACHARIP 2R, PTC, = EIINFAEE,
RTD,PT100HE

p=

B2021E3ARAR BN F/NE Y, FRENMELHF
taIndE VB-100 B RE 2R, RHBIRShiE
HE. RHBREHFTANSELERE, LENT
BEBBEAR, FEIL. T8, BHLFRESE
K3,

CHARACTER

The protection enclosure is IP55,protect dust,drip and oil,Cast iron
Frame strong configuration,which is accord to international standards
and safety safeguarded further.

The stator insulation is class F of TECO insulation system with

good heatproof quality,

strong resistance to electrical sparks,long insulation life and can be
competent in the bad environment.

These ranges use bearing famous brand company and the silicon steel
sheet are come from famous national steel company.

Standardized design, high quality material, advanced processing
equipment and consummation quality guarantee system,it is

embody in the high efficency,low vibrate and reliable safety.

the thermistor,PTC,Heater,RTD,PT100 or others can be providedaccord
ing to the needs of purchaser.

e M E
0GR Code

FHIHOR code BDEVIS
1. a4 R R S0 AR R
2. HmaIEEERE

AP He ~ HY HEERT
LD H1 T HS PYMEAR

¥=z=h Vidration
RN T ERERREAS (58 SR THATE,
H S BRI D R A R 5 T P AR BB

Rotors are dynamically balanced to severity grade A using a half
key. Table below contains the effective vibration values for
unloaded motors.

REhEFLR S
Vibration grade Shaft height/mm
ZEHR REE R/ R R/ RE ERF
Mounting Velocity mm/s Velocity mm/s Velocity mm/s
A RERE 1.6 2:2 2.8
Free suspension
Rt Z2aE
Rigid mounting 13 1.8 2,8

Ra5E Max.rpm
BRYBHEHHNRS B

BRdESREE E SITHREE, BNIBEN 1000VELTF. MES3SSRIUT
BUF S 85% = A AU M A e R AL E R I MAS B > R 254
&7

HE1000VR M T SRR N BB ARSETItE

Sate running speed for the squirrel-cage induction motors.
Unless otherwise the name plate specifies. all the squirrel-cage,
3 phase, induction motors lower than 1000V and smaller than 355
Frame Size can sately run continuously at the speed in the table
below.

The safe Max. rpm for the squirrel-cage, 3 phase induction motors
of 1000V or lower.

BAA%/Ga%rpm/min
HES At
Frame Size 2 4Pole
80 5200 3600 2400 1800
90 5200 3600 2400 1800
100 5200 3600 2400 1800
112 5200 3600 2400 1800
132 4500 2700 2400 1800
160 4500 2700 2400 1800
180 4500 2700 2400 1800
200 4500 2300 1800 1350
225 3600 2300 1800 1350
250 3600 2300 1800 1350
280 3600 2300 1800 1350
315 3600 2300 1800 1350
355 3600 2300 1800 1350

E BB TRERRU LIET, fli0, HEAERE e, E
AR EF SRR, ERBIAHBISBIIRTF LB ETER
WA EBIINERRES . LS SRS S PIRERE, RN RAYEIRE
B3 FE B R H .

—ftEE

Note: When the motors run above the rated speed. for example,
using in speed controller, the noise and vibration will increase. In
this situation, the motors are required to be corrected to satisfy
the acceleration ability above the rated speed. Besides, the
bearing lifetime will decrease. Pay attention to the time for
adding the oil and grease to insure its lifetime.

iHE&dn Grease life (Horizontal installation)

HLEE Frame Size i Poles

HiBBE#H @ Grease lifetime up to CT 40°C

B 0B R SRAYEBHE Grease for permanent lubrication bearing
80-225 | 2,468 | 20000 /1B (h) (B3 28)
A AR ALYH/BEE Grease for regreasable bearing
2507280 2 3000 /B (h)
250280 4, 6, 8 8000 /B (h)
3157355 2 2000 /B Ch)
3157355 4, 6, 8 4000 /1B (h)
3+ Note:

1. YIFEESHELI0C, DBESG LU LB DB EMEE—%, 1lfthecoolant temperature is increased by 10K the grease lifetime and regreasing interval are halved.

2. 20000/\EiER T MK ERERMEE,

2.20000 h apply to horizontally installed motors with coupling transmission.



TECO

¥4k Site altitude above sea level HIEE Profile

1. B TR ERE RIS SENINER HEXThe changes of the output of the motors for the environmental temperature and elevation.
2. Al fEFRThEE =EEINEE x Z# % Available power = rated power X coefficient

e ¥ am
Max. permitled power in rclation to coolant tomperature und albsolute altitude \ ]6 ‘ 15\r ]4 \\ | 12 ]'/— 0" 09)\‘_ k()?\ (06)/05 ) 04) |\02/_,|@'
Al absolute alitude above sea level \ \ \ \ I| “' / |" ! / fx
temperature 1000m 1500m 2000m 2500m 3000m 3500m 4000m 4500m \\ TR | [/ / | ;;“ / // / f:’
(air) Max. permitled power /Rated power PN ‘\, \\ \ | - f / e I CE—
00'C 1.07 1.04 1. 01 0.98 0.95 0.92 \ \ \ \ \ "I _;/ /
10C 1.10 1.07 1.04 1.01 0.98 0.95 0.92 \-\ \ | e
20C 1.10 1.07 1.04 1.00 0.96 0.92 0.89 0.86 \. \\ \ / //
30°C 1,06 1.02 0.97 0.93 0.89 0.85 0.81 0.77 \ VY MLE: [/ / >
40'C 1. 00 0.96 0.91 0.86 0. 81 0.76 0.71 0. 66 it R ;"
50'C 0.90 0.85 0. 80 0.75 0.70 0. 65 0. 60 0.53 .q/‘g E,_
60°C 0.80 0.75 0.70 0.65 0. 60 0. 54 0.47 0. 40 ‘;" il;___
(] ? 7
11 w7
H ——] —— ] A i)
F — e e
” ___%‘3:2%:\&
E o5 H%:HQH\-‘_ [l T
2 == e e e 1500M e d =
3 07 = 2000M
F o= "'\_‘*"\_“‘-\___::‘ 2500M
D 0 3000M
-g 0.5 \EMH 3500M
2 04 e oo 1= B = 2R
2, I TEM NAME I TEM NAME
W WE G Coolant rem?;Z:gture (air) e e o 1 KEY (%) 9 FRAME (*E;ﬁ)
#it: Wishits, ETSHEE, SRS, ALESATRER, SIREERR, (REDIARIERIEE. =
Note: In high altitude areas , due to the thin air, the effect of cooling is bad .The temperature rise must be decreased to prevent the motors 2 SHAFT (ﬁ) 10 STOP RING-BEARING
from destroyed over temp to ensure the motors to run safely. .
4 3 V-Ring 1 BEARING (%K)
LI (IM)
4 BRACKET (35) 12 PRE-LOAD SPRING
LEMNER R
5 BEARING (i) 13 END BRACKET (imzs)
IM 1001 (IM B3) IM 3001 (IM B5) IM 2001 (IM B35)
'—- B K8 - pr—— - 6 TERMINAL BOX (3#4 &) 14 V-RING
KR R o D Fiange D Flange —
7 STATOR (ZEF) 15 EXTERNAL FAN (XLE3)
IM 1051 (IM B&) —1 IM 3011 (1M V1) IM 2011 (IM V15)
. | 8 ROTOR (¥%F) 16 FAN COVER (X2)
T4 = EEH RBET | Tl S
SRS 2 R — D Fiange U B'$)ange
IM 1061 (1M B7) — IM 3031 (1M V3) ||| IM 2031 (1M V36) A
! — D
Kok EEM WRE L
: Hhid e L BInG S EE
P BN A I HE e =1 D Fiange D Flange [
IM 1071 (IM B8) - IM 3601 (IM B14) IM 2101 (IM B34)
BHRSRAEAR C Flange C Flange
IM 1011 (IM V5) ] IM 3611 (1M V18) IM 2111 (1N V17) :ﬁ]]
i FEEH i
= B :ﬁz[;l EEH WHET
Sl B T BIRG AE B2 |
i 6] T BORGHESE ¢ Flange ¢ Flange i
IM 1031 (1M V&) [ IM 3631 (IM V19) ‘__[L IM 2131 (IM V37)
FHM
EEW D F|EH MiEE L D
S [e)_E MG HEEE C C Flange ﬁﬁ*gﬂﬁlﬁlﬁﬂg
ange L




B 2EE (URIE) Terminal box data
hnzES4L Space Heater

SR RN

Force fan motors data

o 2
i o o
m m
@
g LERJ 4
D N
B — ( Fr#80~280) B= ( Fr#315~355 )

7 .' SSRGS 2
3 ShEERHS e SNIERT Outline(mm)
TR AR Sl T
Numberof Contact Outer cable Ca;ﬁi‘:e;')tt S . atﬂé{'ﬁéi’&f?_e
terminals Screw Diameter S [ R A C spac ater typ
thread  ( sealingrange ) i1
80 2-8P 380V 50 35 0.1 2800 58 60 1055
5 6 M4 6~12 21 1 60 | 110 | 110 19.220V, 20W
90 2-8P 380V 35 0.1 2800 91 80 108 9
4P-8P
100 2-8P 380V 50 40 0.1 2800 142 80 100 100 4P2F;P
E 10.220V, 30W
P L]
12 2-8P 380V 50 45 0.1 2800 229 80 82.5 112 4: = 6 M5 T-14 26 1 685 | 127 | 120
132 2-8P 380V 50 45 0.25 1400 337 35 121 - 2P
BETE 10.220V, 40W
160 28P 380V 50 50 025 1400 609 40 105 160 |—2F o
4P-8P
6 M6 10~18 35 1 815 | 166 | 160
180 2-8P 380V 50 75 0.25 1400 686 55 119 i 2P
R 10.220V, 50W
200 2-8P 380V 50 100 03 1400 1679 65 10 -~ 2p S
i 6 M8 22~34 52 1 895 | 212 | 196
225 2-8P 380V 50 120 035 1400 1786 70 1715 . 2P ’
4p-8P
p : 1400 1813 80 1675 2P
250 2-8 380V 50 230 0.7 0 2 S N
280 2-8P 380V 50 250 075 1400 2415 85 1045 55 2P 6 M10 37~42 = E 155 | ey ] st
— 4p-8P
315 2-8P 380V 50 450 13 1300 | 6200 | 180 |grenemn) 2
35 o 6 M12 37~42 D65+ D65 2 152 | 318 | 288 | 10.220v, 150W
355 2-8P 380V 50 650 19 1390 6500 180 |WouesowL) op
B8R0 355 | oes 6 M16 45~52 O75+D75 2 188 | 408 | 372 | 1®.220v, 200W




I/ Noise levels

TECO

EEZ 3%
r/min
3000 (2 %) 1500 (4 £8%) 1000 (6 £8) 750 (8 2R)
dB(A) L -.--.'.:3_,"J Lpfa
0.55 / 66/56 63/53 63/53
0.75 78/68 66/56 63/53 64/54
1: 1 78/68 66/56 63/53 64/54
158 78/68 66/56 64/54 70/60
VA 78/68 70/60 70/60 71/61
3 82/72 70/60 73/63 71/61
4 83/73 72/62 73/63 72/61
515 85/75 75/65 73/63 72/61
7.5 85/75 75/65 73/62 72/61
1 87/76 77/66 73/62 76/65
156 87/76 77/66 77/66 79/68
18.5 87/76 80/69 80/69 79/68
22 88/77 80/69 80/69 79/68
30 90/79 83/72 80/69 80/68
37 90/79 84/73 82/70 82/70
45 92/81 84/73 85/73 82/70
55 92/80 85/73 85/73 88/83
75 94/76 88/76 89/84 88/82
90 94/82 88/76 89/83 88/81
110 98/93 94/89 89/82 88/81
132 98/92 94/88 89/82 92/84
160 98/92 94,/87 94/86 92/84
200 98/91 94/87 94/86 92/84
250 100/92 95/87 94/86 92/84
315 100/92 95/87 94/86 4
&it:
Lpta-FEJER Lef-sound pressure level
Lwa-ES ThEELR Lwa-sound power level
MR 1M 1M away from the motor

TESOHZEBIR{HEET, FEHE3dB

Standard rated output at 50Hz,and the tolerance is £3dB

#iR{EE2 Nameplate

- - U 3
OTEC® #2584 # 0| |OTEC® #2588 #O
#  $lteva somz—4 [ A aEEVIN— [ #ltevs somz—4 [ 4] AeEvIN—
Wi 4 4 WF [ 80M Wi # 4 i 8OM
\Jixa3] 1 hpo. 7skWkk% cB3/1E3 [irss \JE&as 1 hpo. rskWEkR%H cB3/1E3 [ip 55
Wizhs 50 HelfRfE 1.0 [ § 17k ¢ Bzps 50 Hol# A 1.0 [§ & 17ke
lie%% 220,380 V}g 4 F g oz ] g8 220380 Vg &4 F [0 fkoz:
ilﬁizil 3.25/1.88 Al A A 3 IEEH 3.25/1.88 Al A Py
We®d 1210 r/min] 220 V|#[ 380 V| % Bz 1410 r/min] 220 V|#| 380V
R IEI 51 W2 Uz V2, 81w u v 8 k8 51 we, vz v, | % | we_ vz vz
L 82. 5 % 4| —e—e 1 82. 5 % R
|5&$Ei 0. 735 urI\uImI #|veviene E&Wﬁ 0. 7385 meImI 4| veviewe
(O __#le204zz/62032z| + * ¢ B (O W _#ls204zz/620322| * * ¢ Y ¥ O
B R fla 2202174005201 2} § FH]PXXXXXXXXXX [EE g §la 32021 7acvos—2012/ § B BlQX XX XXXXXKX

WBRBRABRLS

BESRTHASNRRRLT

33045H16386CE

X J S 7
3CER
g — = N = = R
TECO .. .72 TECO —.. . .7
O 3—PHASE INDUCTION MOTOR @) O 3—PHASE [NDUCTION MOTOR O
MODEL |TEV3 250M—4 TYPE | AEEV3IN—— MODEL |TEV3 250M—4 TYPE | AEEV3IN——
POLES 4P FRAME 250M POLES 4P FRAME 250M
OUTPUT 756  hp 55 kW|M k| GB3/1E3 |IP G OUTPUT 75 hp 55 kW|Hf@ik | GBE3/1E3 |IPEH
Hz 50 Hz| S.F | 1. 0 [EIGHT}42 6kd D Hz 50 Hz| S.F | 1.0 [WlcH|ez ek
VOLTS 380,660 V| INS. | F _[DMTE[2021] g VOLTS 3soses0 VI INS. | F_ [oaE[z021) §
AMP S 101/58.2 A A = P AP 8 101/58.2 A A l Py g
r/min 1485 rpm| 380 V|S| 860V z t/min 1485 ropm| 380 V|S| 660V z
RATING s1 & > RATING g1 & g
EFF 9%.6 % sz uzI \er & W, vz V2 « EFF % B = sz uzI sz &\ W vz V2
=
cos¢ 0. 875 Ule vie Wie || Ule Vie Wie cosf 0. 875 Ule Vie Wi § Ule Vie Wie
BEARINGS{6315—2,6313—z| * * ¢ Hiil H BARINGS|[6315—2/6313—=2| * * ¢ t o4
DESIGN [ar3z021740vos—2012| SR N0 [P XXX XX XXX XX DESICN [a/3202174cvo5—2012[SER N0, [@X X X XX XXX XX
O | WMBRBREBRLA c e O O | ERRTHRENRHRLD c € O
L WUXI TECO Elec. & Mach. Co., Ltd. ) 9 QINGDAO TECO Precision Mechatronics Co., Ltd. )
b
FRE AR
'd ™ o ™
- TECQ st mvoverion woton es [z TECQ it moverion woror .
MODEL [TEV3 250M—4 TYPE | AEEV3IN— MODEL |[TEV3 250M—4 TYPE | AEEV3IN—
\WJ | PoLES 4p FRAME 250M W/ [ poLES 4P FRAME 250M
U OUTPUT) 75 hp 55 kW|EFF Grade 1E3 IPSH U OUTPUT| 75 hp 55 kW|HF G 1E3 IPE5
Hz 50 Hz| §.F 1. 0 |WEIGHT|4 2 6kg o Hz 50 Hez| 8. F 1. 0 |WEIGHT |42 Bke @
VOLTS 380,660 V| INS F | DATE (2021 2 VOLTS 380660 V| INS, F | DATE [2021 2
AMP' S 101/58.2 A YA = e 5 AP 8 101/68.2 A A = A s
t/oin 1485 rpm| 380 V|S[ 660V g t/min 1485 rpm VIS v 8
RATING s1 [ : RATING s1 5 b
EFF o2 6 % | Wog Utg V24 |23| W2, U2 V2 = EFE 9% B 2| W2g ULy V2 | 23| W2, U2 V2 o
cos$ 0. 875 qu wI mI § Ule Vie ifle cosd 0. 875 UII VII w1I § Ule Vie Wie
BEARINGS[63 16—z /6313—z| + ¢ ¢ ¥ 2 o BEARINGS|6315—2z6313—2| * * ¢ G
DESICN |a320217acvos—2012| SER N0 [P XX XX XXX XXX DESIGH [ar32021 7acvos—2012 | SER MO, [@ XX XXXXXXXX
O | wuxI TECO Elec. & Mach. Co., Ltd.| O O | QINGDAO TECO Precision Mechatronics Co., Ltd. | O
J

)



shiFiBF Bearing temperature rise FEERERES Product Code

10 11 12 13 15 16 17

12 3 4 56 7 8 9 14
b3 -4 * O % v 0O OC O OCHHEEEOO®S®S
WABRANSELCMARF S LIREEEERRLEDENRR. | R R, S )

MPEWEEAERRARZZEFEPAENRDXES, BB RINEILEE, FREERNARENRE, SR
BEMEE.
MPHERFREHERMBERNE, BV LAR S cEEIMFRERENL, WINBEENT:

i RBEARBEG TS EEE BEE
i AR E 95°C  100°C
ATTENTION!

If the rate of rise in temperature is excessive or if the mo tor exhibits excessive vibration or noise,it should be shut
down immcdiatcly and a thorough investigation made as to the cause before it is operated again.

Following the initial start-up, the bearing temperatures should be closely monitored.The rate of rise in bearing temperature
is more indicative of impending trouble than is the actual temperature.

If the bearing temperature rise and motor operation appear to be normal, operation should continue until the bearing
temperatures stabilize.

Recommended limits on bearing temperatures are as follows:

Anti-Friction Bearings. Alarm temperature Trip temperature
By permanently installed detector 95°C 100°C
a ™

TECO

BEARING LUBRICATED AT FACTORY
RE—-LUBRICATE AS PER BELOW

F B
B BEARING yo ume iNnTERVAL| GREASE
NO. TYPE
F$E160-200[6307~6312 10
F#225-2680]6313-6318 50 2000 | Mosi
8 HOURS | PLOYREXEM
F$315-355|6320-6328 80 ¢
Ivo4EDIIN
. O =
VO F#250FFHa453H R

*F#225 LA T LA TS IRIERE

MERS: uz8FR
Bh#: MuiForFr8ER

R 2 FRT

— 3N , GB18613-2020,34%gE5)
= 4N , GB18613-2020,24%8834

: VRIIMIEEZRSE

E
E :
EF. HD. JEREEZE
VF, UJ JU: E=%E
MB: BEEZEE(GB-2)

Vv
V: VREIEZESREE
Fs
F
MV: E=%2%(GB-2))

E: 2R

GB3/IE3-Model : TEV3 TypeAEEV3N/AEUV3N
GB2/IE4-Model : TEV4 TypeAEEVAN/AEUVAN

A: SHEREERENH



12

TECO

RUUE BHERBHB R

15~17T# 4K 5% #4 3
e fEE
004 SRBLOLEE » A EESHRT A i HREEE380v
B02 CHAR T _
BO3 VAGITFHETE - (HHSEFLEAA Clilir)
BN- (i 3 fE kit _ _
BNS SRR (WAL - —E AR — (A ) - SRS - TSR
CF- C-Face Flange (/N[ )
D01 e 2 (IR
FAN T L
GOl Hpi R R
-H- Hf A 5
I 5 [$51000mm » THEAHT » MR T
L2 55 [451500mm » THELHT - BB -
T 1E7 [£#3000mm » THESIHT » B
14 3 [$52000mm » THESHT » WREE T
LE: FEREARIH] (D Flange ) ---IM B35S
LG- I
NP- e
NPI [&BmE R > 2 ackors
NP2 AR - O
NPF SKFfifizK » 22050 g7k
PA- P56
PAS |1P65
PAR T EBRIPS6 » HEARADHEIPOS - $EIRFTIPS6
Q-- HEHE (SHEAEEVI3)
RO- VARSI g TR )
RI- VRIIEHER (s TR A )
S1- |NSKiifi &
SIA NS A&
SIF SKFiliz&
SA- i
SN2 il b4 2 SR $HE
SN3 (Hh A B SH A+ AR R P
TH- BEE AR (BEAH 0 220V)
TH6 e EEE - s EnEE
TL- BEIZAHAS (PTC160) -3PCS/SET
1P- AR 2R (145°C)
VS- Elp R (R k+ YRR -145C )
VS6 BEAETE  HERCIHRGEE » HB SRR (RN K+ BREAR-145C)
W01 FAAL > BBART
Y02 (EEEE » AEmmE
YBY SKF#i7& » H1yfgi: (B12)
YE- IEESE A NE D)
YEB SKFiili7& » 5 |$55 IM TSI H » e

%
Package

1.4REER

YLEES FriB0 3 Frit1 12 MG EAMM, MTFME:

2ARFHEE

HUES Frif1328|Fri3ssmB R AARME, MTE:

KA aREERHNSRNERS, NHEEY, BESTEA.

13



15 1% 3 Data Sheet

NZ&FFREREHL ( Nstandard Motors )
Model: TEV3

380V 50HZ
GB18613-2020GB3( IE3)

21K

EFFICIENCY POWER FACTOR CURRENT TORQUE OTOR  NOISE APPROX
OUTPUT
FRAME FULL 3/4 1/2 FULL 314 172 FULL LOCKED FULL LOCKED PULL BREAK SOUND WEIGHT
NO. LOAD LOAD LOAD LOAD LOAD LOAD LOAD ROTOR LOAD ROTOR UP DOWN
NO-LOAD

(%) (%) (%) (%) (%) (A) kg-m %FLT %FLT %FLT kg-m°> dB(A) kg
0.75 1 2875 | 80OM | BO.7 | 78.3 | 751 | B35 77.0 | 855 | 1.69 780 | 0.254 280 275 335 | 0.006 78 17.0

1.1 15 | 2870 | 80M | 82.7 | 83.0 | 81.3 | 850 | 785 | 66.5 | 2.38 | 800 | 0.373 | 300 | 295 | 350 |0.007 | 78 18.5

15 2 2850 | 90S | 842 | 854 | 858 | 905 | 87.0 | 78.0 | 2.89 | 800 | 0.512 220 210 280 | 0.012 78 250

2o 3 2860 | 90L | 859 | 86.7 [ 86.8 | 895 | 850 | 755 [ 4.35 | 850 | 0.748 | 245 | 235 | 315 | 0.014 | 78 27.5

& 2855 | 100L | 87.1 | 88.3 | 884 | 90.0 | 86.5 | 785 | 5.81 880 | 1.022 255 | 240 355 | 0.025 82 38.0

4 55 | 2875 | 112M | 88.1 | 89.0 | 88.9 | 91.0 | 87.5 | 80.0 | 7.58 | 950 | 1.354 | 270 | 250 | 360 | 0.046 | 83 48.0

55 5 2030 | 1325 | 89.2 | 898 | 895 | 86.0 | 840 | 77.5 | 10.9 | 800 | 1.826 205 | 205 340 | 0.075 85 63.0

7.5 10 | 2920 | 132S ( 90.1 | 909 | 90.8 | 87.0 | 845 | 77.5 | 145 | 725 | 2499 | 195 | 195 | 315 | 0.081 85 66.0

11 15 2935 | 160M | 91.2 | 92.0 | 92.0 | 90.0 | 89.0 | 835 | 204 775 | 3.647 230 185 285 | 0.183 87 105

15 20 | 2935 | 160M | 919 | 92.0 | 920 | 89.0 | 855 | 77.5 | 27.2 | 865 | 4973 | 275 | 230 | 330 | 0.205 | &7 12

18.5 25 2930 | 160L | 924 | 930 | 93.0 | 90.0 | 895 | 84.0 | 338 | 810 | 6.144 245 | 200 | 2985 | 0.237 87 128

22 30 2940 | 180M | 92.7 | 92.7 | 925 | 87.0 | 850 | 77.0 | 414 | 760 | 7.281 225 | 180 | 275 | 0.283 88 156

30 40 2050 | 200L | 93.3 | 935 | 925 | 90.0 | 90.0 | 865 | 54.3 | 775 | 9.895 200 145 | 270 | 0.602 90 238

37 50 | 2955 | 200L [ 93.7 | 945 | 940 | 91.0 | 905 | 87.0 | 659 | 815 | 12.18 | 195 | 145 | 280 | 0.753 | 90 273

45 680 2960 | 225M | 940 | 940 | 935 | 91.0 | 91.0 | 880 | 79.9 | 810 | 14.79 150 140 | 290 | 1.187 92 289

55 75 2970 | 250M | 94.3 | 945 | 94.0 [ 91.5 | 90.0 | 865 | 96.8 | 800 | 1802 | 150 | 130 | 315 | 1.544 | 92 416

75 100 | 2970 | 280S | 94.7 | 946 | 936 | 90.0 | 898 | 87.6 | 134 800 | 2461 155 135 300 | 1.935 94 505

20 125 | 2970 | 280M | 95.0 | 95.0 | 94.0 | 90.5 | 90.0 | 825 | 159 | 830 | 2953 | 150 | 135 | 285 | 2463 | 94 571

110 150 | 2970 | 3158 | 95.2 | 950 | 943 | 910 | 895 | 856 | 193 834 | 36.09 230 200 280 | 3.200 98 786

132 | 175 | 2975 | 315M | 954 | 951 | 944 | 91.0 | 90.5 | 87.0 | 231 755 | 43.24 | 150 | 130 | 280 | 4.800 | gg 835

160 | 215 | 2975 | 315L | 956 | 955 | 945 | 91.0 | 90.5 | 87.0 | 279 764 | 52.41 160 140 270 | 5.200 98 910

200 | 270 | 2975 | 315L | 95.8 | 956 | 946 | 91.0 | 905 | 88.0 | 349 | 735 | 65.51 | 160 | 140 | 260 | 6.000 | o | 1,175

250 | 335 | 2075 |355M| 95.8 | 955 | 94.6 | 90.5 | 89.0 | 84.0 | 438 | 740 | 81.89 | 140 | 115 | 260 | 8.800 | 400 | 1.414

315 | 420 | 2975 | 355L | 95.8 | 955 | 94.8 [ 91.0 | 89.0 | 84.0 | 549 | 740 | 103.2 [ 140 | 115 | 260 [10.40 | 100 | 1,564

355 | 475 | 2975 | 355C | 958 | 955 | 946 | 920 | 90.5 | 855 | 612 840 | 116.3 | 120 120 | 260 | 16.00 | 100 | 2,200

400 | 540 | 2975 | 355C | 95.8 | 955 | 946 | 92.0 | 91.0 | 875 | 690 | 850 | 131.0 [ 120 | 120 | 260 | 20.80 | 100 | 2,550

NOTE. 1.The above are typical values based on test according to GB/T 1032 method B, IEC 60034-2-1:2014.
2. Tolerance according to GB 755, IEC 60034-1.

3. Breakdown & Locked rotor torques are show as average expected voltages.
4. Noise : sound power level at no-load, dB(A), Tolerance + 3 dB(A)

5. Data subject to change without notice.

14

TECO

380V 50HZ
GB18613-2020 GB3( IE3)

4R

EFFICIENCY POWER FACTOR CURRENT TORQUE ROTOR MNOISE arPROX
FULL 34 1/2  FULL 3/4 1/2 FULL LoCckED FULL LockeD PULL BREAK SOUND WEIGHT
LOAD LOAD LOAD LOAD LOAD LOAD LOAD ROTOR LOAD ROTOR UP DOWN &D? R

45143 Data Sheet

NZFFRAEBEH]L ( Nstandard Motors )
Model: TEV3

QUTPUT

NO-LOAD

(%) (%) (%) (%) (%) (%) (A) %FLC kg-m %FLT %FLT %FLT kg-m® dB(A) kg

055 | 075 | 1430 | 8om | 80.8 | 81.5 [ 795 [ 75.0 | 65 | 51.0 | 1.38 | 640 | 0.37 | 300 | 270 | 320 [0.010| &6 [ 165
075| 1 |1410| 8om | 825 [ 81.8 [ 79.7 [ 73.5 | 64.0 | 50.0 | 1.88 | 640 | 0.518 | 315 | 290 | 335 [0.013 | 66 | 17.0
11 | 15 | 1430 | 90s | 84.1 | 844 | 832 | 795 | 715 [ 575 [ 250 | 720 0748 | 255 | 205 | 290 |0.019| 66 | 250
15 | 2 |[1435| 9oL | 853 | 841 | 822 | 750 | 655 | 51.5 | 3.56 | 760 | 1.017 | 300 | 235 | 335 |0.023| 66 | 265
22 | 3 | 1450 [ 100L | 86.7 | 87.3 | 86.9 | 81.0 | 735 | 605 | 476 | 735 | 1.476 [ 200 | 160 | 270 |0.045| 70 | 38.0
3 4 | 1455 | 100L | 87.7 | 87.7 | 86.2 | 78.0 | 705 | 57.5 | 6.66 | 780 [2.006 | 250 | 240 | 335 |0.052| 70 | 420
55 | 1445 [112M| 886 | 884 | 87.9 | 820 | 765 | 655 | 8.37 | 715 | 2693 | 245 | 205 | 280 |0.083 | 72 | 47.0
55 | 7.5 | 1455 [ 1325 | 89.6 | 904 | 90.3 | 850 | 80.5 | 70.0 | 11.0 | 735 |3.678 | 245 | 200 | 300 [0.132| 75 |65.0
75 | 10 | 1450 [ 132m | 904 | 90.8 | 90.4 | 850 | 80.0 | 69.5 | 14.8 | 780 | 5.033 [ 270 | 225 | 330 [0.172| 75 | 795
11 | 15 | 1460 | 160M| 914 | 92.0 | 915 | 850 | 81.0 [ 71.0 | 215 | 775 [7.331 | 230 | 185 | 270 |0366 | 77 | 113
15 | 20 | 1460 | 160L | 92.1 | 925 | 925 | 850 | 815 | 71.4 | 291 | 810 [9.997 | 250 | 195 | 285 |0460| 77 | 130
185 | 25 | 1475 | 180m| 926 | 94.0 | 93.0 | 850 | 824 | 750 | 357 [ 790 [12.20 | 215 | 160 | 255 |0.704 | 80 | 165
22 | 30 | 1475 180L [ 930 | 935 | 93.0 | 850 | 81.9 | 741 | 423 | 785 | 1451 | 190 | 145 | 245 0789 | 80 | 176
30 | 40 | 1470 | 200L [ 936 | 945 | 945 | 86.0 | 84.5 | 770 | 566 | 830 | 19.86 [ 250 | 205 | 280 [1.451| 83 | 258
37 | 50 | 1480|2255 | 939 | 945 | 940 | 855 | 82.0 | 730 | 700 | 760 |24.33 [ 210 | 175 | 300 [1.896 | 84 | 290
45 | 60 | 1480 |225M| 942 | 945 | 940 | 850 | 80.0 [ 70.4 | 854 | 735 (2958 | 210 | 175 | 200 |1.979| 84 | 319
55 | 75 | 1485 |250M| 946 | 946 | 940 | 875 | 845 | 770 | 101 | 780 | 36.04 | 210 | 185 | 265 [3.911| 85 | 426
75 | 100 | 1480 [ 280s [ 95.0 | 95.0 | 94.5 | 850 | 82.0 | 73.0 | 141 | 770 |49.38 [ 160 | 150 | 300 [5.033 | 88 | 545
90 | 125 | 1480 [280M | 952 | 952 | 947 | 850 | 81.0 | 71.3 | 169 | 780 |59.26 [ 175 | 165 | 300 [6.112| 88 | 615
110 | 150 [ 1480 [ 3155 | 954 | 952 | 94.8 | 880 | 86.5 | 805 | 199 | 705 | 7243 [ 210 | 180 | 270 |7600| o4 | 916
132 | 175 | 1485 [ 315M | 956 | 955 | 94.8 | 880 | 875 | 83.0 | 238 | 700 | 8662 | 180 | 170 | 230 |1040 | g4 | gos
160 | 215 | 1482 | 315L | 958 | 956 | 94.8 | 880 | 87.0 | 835 | 288 | 700 | 1052 | 180 [ 170 | 230 [11.60 | g4 | 1,055
200 | 270 | 1485 315L | 96.0 | 956 | 95.2 [ 88.0 | 87.0 | 845 | 360 | 700 | 1312 180 | 170 | 230 |14.00| o4 |1.215
250 | 335 | 1485 )| 355M | 96.0 | 958 | 95.3 | 87.0 | 84.5 | 77.5 | 455 | 740 | 164.1 | 180 | 170 | 230 | 27.60| o5 | 1564
315 | 420 | 1487 | 355L | 96.0 | 95.8 | 953 | 87.0 | 84.5 | 775 | 573 | 740 | 206.4 [ 180 | 170 | 260 |31.20 | g5 | 1764
355 | 475 | 1485 | 355C | 96.0 | 958 | 953 [ 89.0 [ 87.5 | 81.0 | 631 | 780 | 233.0 | 200 | 180 | 280 [3560| 95 [2350
400 | 540 | 1487 | 355C | 96.0 | 958 | 953 | 895 [ 88.0 | 83.0 | 707 | 780 | 2621 | 200 | 180 | 260 4280 | 95 [2630

NOTE: 1.The above are typical values based on test according to GB/T 1032 method B, IEC 60034-2-1:2014.
2. Tolerance according to GB 755, IEC 60034-1.

3. Breakdown & Locked rotor torques are show as average expected voltages.
4. Noise : sound power level at no - load, dB(A), Tolerance + 3 dB(A)

5. Data subject to change without notice.

15



15 1% 3 Data Sheet

NZ&FFRAERH] ( Nstandard Motors )
Model: TEV3

380V 50HZ
GB18613-2020GB3( IE3)

61k

EFFICIENCY POWER FACTOR CURRENT TORQUE ROTOR NOISE APPROX
FULL FRAME FULL 3/4 142 | FULL 374 1/2 FULL LOCKED FULL LOCKED PULL BREAK SOUND WEIGHT
LOAD NO. LOAD LOAD LOAD LOAD LOAD LOAD LOAD ROTOR LOAD ROTOR UP DOWN ?  POWER

QUTPUT

MNO-LOAD
(%) (%) (%) (%) (%) (%) (A) %FLC kg-m %FLT %FLT %FLT dB(A) kg
037 | 05 | 05 | som | 735 | 74.0 | 71.0 | 64.0 | 54.0 | 41.0 | 1.20 | 420 |0.398 | 230 | 200 | 250 | 0.013 | 63 | 17.0

055 | 0.75 | 905 | 80M | 77.2 | 699 | 664 | 69.0 | 58.0 | 445 | 1.57 | 420 |0.591 | 210 | 195 | 225 | 0.015 63 18.5

0.75 1 935 | 90S | 789 | 806 | 794 | 71.0 | 625 | 49.0 | 2.03 | 470 |0.780 | 205 190 225 | 0.022 63 26.0

1.1 15 | 930 | 90L | 81.0 | 81.2 | 80.5 | 72.0 | 63.5 | 50.0 | 2.87 | 490 (1.151 | 200 | 185 | 215 | 0.026 63 29.5

1.5 2 950 | 100L | 825 | 829 | 815 | 725 | 65.0 | 52.0 | 3.81 500 |1.536 | 200 175 225 | 0.058 64 40.0

22 | 3 | 960 [112M| 84.3 | 843 [ 822 | 67.0 | 59.0 | 47.0 | 592 | 525 (2230 | 175 | 175 | 250 [ 0.083 [ 70 | 505
4 | 970 [1325|856 | 861 | 851 |76.0 | 700 | 57.5 [ 7.01 | 655 [3.009| 175 [ 170 | 300 [ 0137 | 73 | e4.0
4 | 55 | 970 |132m | 86.8 | 87.2 | 86.3 | 77.0 | 70.0 [ 57.5 | 9.09 | 670 |4.012| 180 | 175 | 310 | 0.182 | 73 | 830
55 | 7.5 | 970 [132m| 88.0 | 88.0 | 86.2 | 795 | 725 | 60.0 | 11.9 | 780 5517 | 210 | 205 | 300 | 0216 [ 73 | 840
75 | 10 | 970 [160M| 89.1 | 90.0 | 89.0 | 79.0 | 73.0 | 61.0 [ 162 | 715 (7523 | 235 | 210 | 280 [ 0483 [ 73 | 120
11 | 15 | 970 | 160L | 90.3 [ 91.0 | 905 | 78.0 | 72.0 [ 605 | 237 | 755 |[11.03| 205 | 255 | 285 | 0628 | 73 | 134
15 | 20 | 970 | 180L | 91.2 [ 92.0 | 920 [ 820 | 78.0 | 68.0 | 30.5 | €90 [15.05| 215 | 165 | 230 [ 1337 | 77 | 179
185 | 25 | 975 | 200L | 91.7 | 925 | 925 | 805 | 76.0 [ 66.5 | 38.1 | 720 |1846 | 220 | 185 | 240 | 1.820 | 80 | 243
22 | 30 | 975 | 200L [ 92.2 | 93.0 [ 935 | 815 | 77.0 | 68.0 | 445 | 720 |21.95| 210 | 185 | 240 | 2.078 [ 80 | 263
30 | 40 | 980 |225M| 92.9 | 935 [ 935 | 835 | 80.0 | 76.5 | 58.8 | 600 |29.79 | 200 | 160 | 215 | 3.023 [ 80 | 330
37 | 50 | 980 |250M|93.3 | 94.0 | 94.0 | 85.0 | 81.5 | 75.0 | 70.9 | 730 [36.74 | 230 | 200 | 250 | 4.194 [ 82 | 411
45 | 60 | 985 | 280s | 937 | 937 [93.0 | 815 | 775 | 675 | 895 | 690 |4452| 185 | 175 | 285 | 5530 [ 85 | 487
55 | 75 | 985 |280M| 94.1 | 94.1 | 935 | 83.0 | 80.0 | 71.0 | 107 | 685 |54.41| 185 | 175 | 300 | 6.733 [ 85 | 548
75 | 100 | 985 | 3155 | 94.6 | 945 [ 937 | 845 | 81.0 | 71.0 | 143 | 669 7420 | 200 | 180 | 280 | 9600 | 89 | 801
90 | 125 | 985 | 315M | 94.9 | 94.9 [ 942 | 85.0 | 825 | 750 | 170 | 704 |89.04 | 200 | 180 | 250 | 1520 [ 89 | ges
110 | 150 | 985 | 315L | 95.1 | 950 | 942 | 850 | 83.0 | 755 | 207 | 457 | 108.8| 200 | 180 | 250 | 18.40 | g9 | o5
132 | 175 | 985 [ 315L | 954 | 953 | 94.3 [ 845 | 825 | 75.0 | 249 | gg3 [ 130.6| 200 | 180 | 250 | 2040 | g9 | 1.480
160 | 215 | 988 |355M | 956 | 95.4 | 94.6 | 85.0 | 81.0 [ 70.0 [ 299 | 750 | 157.8| 160 | 140 | 260 | 3160 | o4 | 1414
200 | 270 | 988 |355M | 95.8 | 956 | 94.8 | 85.0 | 81.0 | 69.0 | 373 | 749 [197.3| 180 | 160 | 270 | 39.20 [ g4 | 1664
250 | 335 | 988 | 355L | 95.8 [ 95.6 | 94.8 | 85.0 | 80.5 | 68.0 | 466 | 760 |246.6| 180 | 160 | 270 | 4640 | o4 | 164
315 | 420 | 990 [355C | 95.8 | 95.8 | 954 | 85.5 | 82.0 | 73.5 | 584 | 730 [310.1| 180 [ 160 | 270 [ 57.20 | o4 | 2.450

355 | 475 | 990 | 355C | 95.8 | 958 | 954 | 855 | 825 | 73.6 | 659 720 | 349.4| 180 160 270 | 64.80 94 2,800

NOTE: 1.The above are typical values based on test according to GB/T 1032 method B, IEC 60034-2-1:2014.
2. Tolerance according to GB 755, IEC 60034-1.

3. Breakdown & Locked rotor torques are show as average expected voltages.
5. Noise : sound power level at no-load, dB(A), Tolerance + 3 dB(A)

6. Data subject to change without notice.

16

TECO

380V 50HZ
GB18613-2020 GB3( IE3)

81k

EFFICIENCY POWER FACTOR CURRENT TORQUE ROTOR  NOISE APPROX.
FULL FRAME FULL 3/4 12 FULL 3/4 / FULL LOCKED LOCKED PULL BREAK SOUND WEIGHT
LOAD NO. LOAD LOAD LOAD LOAD LOAD LOAD LOAD ROTOR ROTOR UP DOWN 2 POWER

15143 Data Sheet

NZF|FRAEBEH] ( Nstandard Motors )
Model: TEV3

OUTPUT

NO-LOAD

(%) (%) (%) (%) (%) (A) %FLT %FLT dB(A) kg
0.18 | 0.25 | 705 | 8om | 58.7 | 58.5 | 51.0 | 48.0 | 40.0 | 32.0 | 0.97 | 330 | 0249 | 250 | 200 | 280 | 0013 | 63 | 17.0

025 )| 033 | 680 | 80M | 641 | 630 | 58.0 | 60.0 | 50.0 | 39.0 | 0.99 | 300 0.358 200 170 200 0.014 63 19.0
037 | 05 705 | 90S | 69.3 | 69.0 | 67.0 | 59.0 | 49.0 | 38.0 | 1.37 | 390 0.511 180 170 220 0.017 63 21.0
055 | 075 | 705 | 90L | 73.0 | 71.5 | 68.9 | 63.5 | 53.0 | 425 | 1.80 | 400 0.760 170 150 220 0.025 63 246
0.75 1 700 | 100L | 75.0 | 74.7 | 70.9 | 80.5 | 51.0 | 38.0 | 2.51 | 430 1.044 225 | 215 235 0.041 64 31.0
1551 1.5 | 695 | 100L | 77.7 | 78.8 | 76.8 | 66.0 | 57.0 | 44.0 | 3.26 | 435 1.540 200 190 210 0.059 64 38.0
1.5 2 700 | 112M | 79.7 | 80.2 | 79.1 | 69.5 | 61.0 | 48.0 [ 4.11 | 465 2.085 185 140 205 0.090 70 50.0
22 3 705 | 1325 | 819 | 822 | 79.8 | 69.0 | 60.0 | 46.5 | 5.92 | 555 3.036 230 | 205 265 0.138 i 62.0
3 4 715 | 132M | 83.5 | 83.2 | 80.1 | 3.0 | 53.5 | 40.5 | 866 | 570 4.083 280 | 250 325 0.180 71 68.0
& 55 | 720 |160M | 848 | 847 | 825 | 70.5 | 62.0 | 485 | 10.2 | 590 5.408 190 170 250 0.343 72 106
55 7.5 720 | 160M | B6.2 | 85.2 | 83.3 | 71.5 | 63.0 | 50.0 [ 13.6 | 605 7.433 200 185 275 0.503 72 125
7.5 10 720 | 160L | 87.3 | 873 | 858 | 71.0 | 645 | 510 | 184 | 595 10.14 225 | 215 295 0.670 72 144
11 15 720 | 180L | 886 | 886 | 88.1 | 78.0 | 73.0 | 62.0 | 24.2 | 565 14.87 170 150 210 1.273 76 187
15 20 730 | 200L | 89.6 | 88.9 | 87.5 | 78.0 | 72.0 | 60.0 | 326 | 600 19.99 195 170 230 2.082 79 266
185 25 735 | 2255 | 90.1 | 906 | 89.6 | 72.0 | 65.5 | 58.0 | 43.3 | 535 24.49 210 185 235 2.675 79 300
22 30 735 | 225M | 90.6 | 90.6 | 90.6 | 745 | 69.0 | 63.0 | 49.5 | 510 29.12 210 170 215 3.023 79 340
30 40 735 | 250M | 91.3 | 91.3 | 91.3 | 745 | 68.0 | 58.0 | 67.0 | 550 39.71 210 170 245 4.565 80 419
37 50 735 | 280S| 918 | 923 | 91.3 | 78.0 | 73.4 | 63.2 | 785 | 575 48.98 135 | 130 230 6.277 82 526
45 60 735 | 280M | 922 | 92.7 | 922 | 76.0 | 71.5 | 1.0 | 976 | 585 59.57 140 130 220 7.726 82 597
55 75 735 | 31558 | 925 | 925 | 91.8 | 80.5 | 75.1 | 64.1 |112.2 | 620 72.85 140 130 220 9.200 88 711
75 100 | 738 | 315M| 93.1 | 93.1 | 925 | 79.0 | 74.8 | 63.0 [154.9 | 550 98.93 160 150 225 10.80 88 850
90 125 | 738 | 315L | 934 | 934 | 928 | 79.5 | 75.5 | 65.0 | 184.2 | 590 118.72 | 170 160 240 25.60 88 1026
110 | 150 | 738 | 315L | 93.7 | 93.8 | 934 | 79.5 | 76.0 | 65.5 |224.4 | 570 145.10 | 160 150 230 28.80 88 1056
132 | 175 | 738 | 355M | 94.0 | 93.9 | 93.0 | 80.0 | 76.3 | 66.2 |266.7 | 650 17412 | 135 120 240 34.00 92 1455
160 | 215 | 738 | 355M | 94.3 | 943 | 93.5 | 805 | 77.4 | 685 |320.2 | 640 | 211.06 | 130 120 200 40.80 92 1565
200 | 270 | 738 | 355L | 946 | 945 | 93.8 | 81.0 | 78.0 | 9.0 |396.6 | 650 | 263.82 | 130 120 230 51.60 92 1675
250 | 335 | 738 | 355C | 946 | 949 | 945 | 82.0 | 78.0 | 67.0 [489.7 | 750 329.78 | 180 160 280 72.40 92 2580

NOTE: 1. The above are typical values based on test according to GB/T 1032 method B, IEC 60034-2-1:2014.
2. Tolerance according to GB 755, IEC 60034-1.

3. Breakdown & Locked rotor torques are show as average expected voltages.
5. Noise : sound power level at no-load, dB(A), Tolerance + 3 dB(A)

6. Data subject to change without notice.

17



151% 2 Data Sheet

S EBEL (High Efficiency Motor)

Model: TEV4

OUTPUT

EFFICIENCY POWER FACTOR CURRENT TORQUE

FULL FRAME FULL 3/4 12 FULL 34 1/2 FULL LockeD FULL LockeD PULL BREAK

LOAD NO. LOAD LOAD LOAD LOAD LOAD LOAD LOAD ROTOR LOAD ROTOR

(%) (%) (¥ (%) (%) (%) (A) %FLC kg-m %FLT

up

380V 50HZ
GB18613-2020GB2( IE4 )

21K

NOISE APPROX

DOWN

%FLT %FLT

ROTOR

SOUND WEIGHT

POWER
NO-LOAD

dB(A)

kg

15 1% 3 Data Sheet

SMEBEHL (High Efficiency Motor)
Model: TEV4

OUTPUT

TECO

380V 50HZ
GB18613-2020 GB2( IE4 )

4R

EFFICIENCY POWER FACTOR CURRENT TORQUE ROTOR NOISE APPROX.
FULL FRAME FULL 3/4 12 Fulk 34 1/2 FULL rockep FULL rockep PULL BREAK SOUND WEIGHT
LOAD NO. LOAD LOAD LOAD LOAD LOAD LOAD LOAD ROTOR LOAD ROTOR UP DOWN GD® POWER

NO-LOAD

(%) Yo (% (%) (%) (A) %FLC kg-m %FLT %FLT %FLT kg-m® dB(A) kg

0.75 4 2880 | 80OM | 835 | 840 | 832 | 815 | 750 | 65.0 | 1.67 | 845 | 0.253 | 345 | 310 | 360 | 0.007 | 78 | 18.0
il 1.5 | 2880 | 80M | 85.2 | 86.0 | 84.7 | 815 | 76.5 | 65.5 | 241 | 900 [ 0.372 | 360 | 325 | 380 | 0.010 | 78 | 225
1.5 2885 | 90S | 865 | 874 | 87.0 | 86.0 | 81.0 | 69.8 | 3.06 | 950 [ 0.506 | 310 | 280 | 360 | 0.014 | 78 | 285
2.2 3 2885 | 90L | 88.0 | 88.2 | 87.8 | 86.0 | B0O.5 | 69.3 | 442 | 950 | 0.742 | 365 | 330 | 375 | 0.016 | 78 | 305
3 4 2885 | 100L | B9.1 | 88.8 | 85.0 | 870 | 82.0 | 72.0 | 5.88 990 | 1.012 360 325 365 | 0.028 82 43.5
4 55 | 2895 | 112M | 90.0 | 90.2 | 90.1 | 89.0 | 87.0 | 80.5 | 7.59 | 990 | 1.344 | 360 | 330 | 390 | 0.056 | 83 | 56.0
55 75 | 2025|1325 | 909 | 91.3 | 908 | 860 | 815 | 71.5 | 10.7 990 | 1.830 275 215 365 | 0.079 85 it
7.5 10 | 2925|1328 | 91.7 | 91.2 | 90.8 | 86.0 | 855 | 81.0 | 144 | 905 | 2495 | 260 | 225 | 340 | 0.085 | 85 | 80.5
1" 15 2950 | 160M | 926 | 926 | 916 | 89.0 | 86.0 | 79.5 | 20.3 950 | 3.628 240 195 330 | 0.192 87 123
15 20 | 2950 | 160M | 93.3 | 929 | 929 | 89.0 | 86.0 | 79.0 | 27.4 | 980 | 4.947 | 265 | 215 | 355 | 0.218 [ 87 | 130
18.5 25 2950 | 160L | ©93.7 | 934 | 929 | 88.0 | 845 | 76.5 | 34.1 930 | 6.102 270 215 350 | 0.250 87 140
22 30 | 2950 | 180M | 94.0 | 93.1 | 926 | 90.0 | 87.5 | 80.0 | 395 | 950 | 7.256 | 290 | 230 | 350 | 0.330 | 88 194
30 40 2960 | 200L | 945 | 945 | 94.0 | 93.0 | 925 | 91.0 | 51.9 780 | 9.861 185 135 265 | 1.074 90 306
37 50 | 2965 | 200L | 94.8 | 950 | 945 | 930 | 925 | 895 | 63.8 | 880 | 1214 | 180 | 155 | 295 | 1187 | 90 | 318
45 60 2965 | 225M | 950 | 949 | 944 | 920 | 915 | 88.5 | 78.2 745 | 14.77 140 125 270 | 1.345 92 404
55 75 | 2970 | 250M | 95.3 | 949 | 939 | 90.0 | 88.5 | 84.0 | 974 | 890 | 18.02 | 155 140 | 330 | 2.111 92 561
75 100 | 2975 | 2805 | 956 | 953 | 943 | 90.0 | 88.0 | 82.0 132 820 | 24.57 140 120 280 | 3.600 94 750
90 | 125 | 2975 | 280M | 958 | 956 | 949 | 90.0 | 88.0 | 82.0 | 159 | 820 | 2948 | 140 | 120 | 280 | 4.000 | 94 | 810
110 180 | 2975 | 3155 | 96.0 | 95.7 | 94.7 | 90.0 | 88.0 | 82.0 | 193 820 | 36.03 140 120 280 | 5.200 98 930
132 | 175 | 2975 | 315M | 96.2 | 96.0 | 95.1 | 90.5 | 89.5 | 85.0 | 230 820 | 43.24 | 140 120 | 280 | 6.000 | 98 | 1030
160 | 215 | 2975 | 315L | 96.3 | 96.1 | 953 | 905 | 89.5 | 86.0 | 279 800 | 52.41 140 120 | 250 | 7.600 | 98 | 1260
200 | 270 | 2975 | 315L | 96.5 | 96.4 | 958 | 90.5 | 89.5 | 87.0 | 348 800 | 65.51 140 120 | 250 | 8400 | 98 | 1380
250 | 335 | 2975 | 355M | 96.5 | 96.4 | 95.8 | 90.0 | 89.0 | 85.0 | 437 so0 | 81.88 | 130 115 | 230 | 13.60 | 100 | 1900
315 | 420 | 2975 | 355L | 96.5 | 96.4 | 95.8 | 90.0 | 89.0 | 855 | 551 goo | 103.2 | 130 115 | 230 | 1560 | 100 | 2200
NOTE : 1. The above are typical values based on test according to GB/T 1032 method B, IEC 60034-2-1:2014.

18

2. Tolerance according to GB 755, |IEC 60034-1.

3. Breakdown & Locked rotor torques are show as average expected voltages.

4. Efficiency, power factor, speed and torque are the same for other voltages.

Current values vary inversely with voltage.
5. Noise : sound power level at no - load, dB(A), Tolerance + 3 dB(A)
6. Data subject to change without notice.

0.75 1 1435 | 80M | 85.7 | 86.2 | 853 | 73.5 | 65.5 | 52.0 | 1.81 755 |0.509 | 380 | 345 | 395 | 0.017| 66 | 22.0
A 15 | 1445 | 90S | 87.2 | 87.7 | 86.7 | 77.0 | 69.0 | 55.0 | 249 | 870 |0.741 | 330 | 245 | 355 | 0.021| 66 | 27.5
15 2 | 1445 90L | 882 | 888 | 881 | 805 | 73.0 | 61.0 | 3.21 | 885 [1.010 | 330 | 245 | 340 | 0.029| 66 | 32.0
2.2 1460 | 100L | 89.5 | 90.0 | 89.6 | 805 | 750 | 645 | 464 | 935 |1.466 | 325 | 200 | 385 |0.076| 70 | 52.0

3 4 1465 | 100L | 904 | 90.2 | 89.1 | 805 | 735 | 61.0 | 6.26 | 945 |1.992 | 330 | 310 | 350 [0.089] 70 | 56.5
4 55 | 1465 | 112M| ©1.1 | 914 | 906 | 815 | 71.5 | 72.0 | 819 | 965 |2.657 | 355 | 280 | 380 |(0.117]| 72 | 65.0
5.5 75 | 1465|1328 | 919 | 919 | 91.0 | 830 | 77.0 | 66.0 | 11.0 | 985 |3.653 | 390 | 300 | 385 (0.192] 75 | 925
7.5 10 | 1465 | 132M| 926 | 926 | 924 | 835 | 785 | 675 | 14.7 | 925 |4.981 | 350 | 255 | 350 | 0.222| 75 101
1 15 | 1470 | 160M | 933 | 92.7 | 927 | 84.0 | 80.0 | 70.0 | 21.3 | 860 |7.281| 265 | 215 | 295 | 0.407| 77 141
15 20 | 1470 | 160L | 939 | 939 | 934 | 85.0 | 820 | 73.5 | 286 | 780 |9929| 235 | 190 | 260 | 0506 77 | 157

185 | 25 | 1480 [ 180M| 942 | 939 | 934 | 850 | 820 | 74.0 | 351 | 840 | 12.16| 240 | 205 | 290 | 0.928| 80 | 221
22 30 1480 | 180L | 945 | 938 | 928 | 850 | 820 | 740 | 418 875 | 14.46| 265 220 305 | 1.005| 80 232
30 40 | 1480 | 200L | 949 | 944 | 939 | 850 | 81.0 | 73.0 | 56.5 | 780 |19.72| 220 | 185 | 275 | 1.649| 83 310
37 50 | 1480 | 225S| 952 | 949 | 944 | 88.0 | 850 | 77.5 | 67.1 | 795 |24.33| 210 | 185 | 265 |3.186| 84 | 408
45 60 | 1480 | 225M| 954 | 948 | 943 | 880 | 850 | 78.0 | 814 | 780 |2958| 210 | 185 | 260 | 3.760| &4 449
55 75 | 1480 | 250M | 95.7 | 959 | 954 | 87.0 | 84.0 | 76.0 | 100 885 | 36.16| 185 | 170 | 320 [ 5.393| 85 | 603
75 100 | 1488 | 280S | 96.0 | 95.8 | 95.0 | 87.5 | 84.0 | 75.0 | 136 | 800 |49.12| 160 | 140 | 260 |8.000 | 88 850
90 125 | 1488 | 280M | 96.1 | 958 | 95.0 | 87.5 | 84.0 | 75.0 | 163 | 800 |58.94 | 160 | 140 | 260 |9.200| 88 960
110 150 | 1488 | 3158 | 96.3 | 96.1 | 953 | 88.0 | 85.0 | 77.0 | 197 | 740 |72.04 | 180 | 160 | 260 [(17.60( 94 1150
132 | 175 | 1488 | 315M | 964 | 96.2 | 955 | 88.0 | 85.0 | 77.0 | 236 | 74p |86.45| 180 | 160 | 260 |19.60 | 94 [ 1210
160 215 | 1488 | 315L | 96.6 | 964 | 95.7 | 88.0 | 85.0 | 77.0 | 286 760 |104.8 | 200 180 260 |22.80 94 1470
200 | 270 | 1488 | 315L | 96.7 | 966 | 96.0 | 88.0 | 845 | 76.5 | 357 | 7ep [131.0| 200 | 180 | 260 |2520| 94 | 1585
250 | 335 | 1488 | 355M | 96.7 | 96.6 | 96.0 | 90.0 | 885 | 83.5 | 436 | 780 [163.7| 150 | 130 | 260 |3560| g5 | 2220
315 | 420 | 1488 | 355L | 96.7 | 96.6 | 96.2 | 90.0 | 88.5 | 84.0 | 550 | 7gp [206.3 | 150 | 130 | 260 |39.60 | g5 | 2500

NOTE: 1.The above are typical values based on test according to GB/T 1032 method B, IEC 60034-2-1:2014.

2. Tolerance according to GB 755, IEC 60034-1.

3. Breakdown & Locked rotor torques are show as average expected voltages.

4. Efficiency, power factor, speed and torque are the same for other voltages.
Current values vary inversely with voltage.

5. Noise : sound power level at no -load, dB(A), Tolerance + 3 dB(A)

6. Data subject to change without notice.

19



F1%EZE Data Sheet

=3 %l (High Efficiency Motor) 380V 50H7
Model: TEV4 GB18613-2020GB2( IE4 )
61}

L

EFFICIENCY POWER FACTOR CURRENT TORQUE ROTOR NOISE APPROX
FULL FRAME FULL 3/4 1/2 FULL 3/4 1/2 FULL Lockep FULL Lockep PULL BREAK SOUND WEIGHT
LOAD NO. LOAD LOAD LOAD LOAD LOAD LOAD LOAD ROTOR LOAD ROTOR UP DOWN GD? POWER

OUTPUT

NO-LOAD

%) (%) (%) (%) (%) (%) (A) %FLC kg-m %FLT %FLT %FLT kg-m’> dB(A) kg
075 1 | 950 | 90s | 82.7 | 824 | 81.0 | 680 | 580 | 450 | 203 | 625 |0.768 | 250 | 215 | 300 | 0.027| 63 | 30.0

11 | 15 | 955 | 90L | 845 | 845 | 83.0 | 69.5 | 60.5 | 47.5 | 2.85 | 630 |1.121 | 260 | 250 | 335 | 0.037| 63 | 36.0
15 | 2 | 960 | 100L | 859 | 86.2 | 852 | 70.0 | 625 | 50.0 | 3.79 | 685 [1.520 | 240 | 185 | 295 [o0.065| 64 | 47.0
22 3 970 | 112M| 874 | 87.3 | 858 | 66.0 | 585 | 46.0 | 5.79 | 705 |2.207 | 260 | 220 | 330 | 0.093| 70 | 56.5
3 4 | 970 [1325| 886 | 888 | 87.7 | 755 | 67.0 | 54.0 | 6.81 | 755 |3.009 | 230 | 190 | 330 |0.154| 73 | 75.0
4 | 55 | 970 [132m| 895 [ 90.2 | 89.8 | 77.0 | 71.0 [ 72.0 [ 8.82 | 695 [4.012 [ 190 [ 180 [ 280 [0.206[ 73 | &6.0
55 | 75 | oro | 132m| 905 | 896 | 884 | 740 | 66.0 | 53.0 | 125 | 790 [5.517 | 270 | 255 | 355 |0.223| 73 | 905
7.5 10 | 975 | 160M| 913 | 815 ] 91.0 | 77.0 | 71.0 | 585 | 16.2 | 780 | 7.485| 285 | 250 | 285 | 0.503| 73 | 134
11 | 15 [ o0 [ 160L [ 92.3 [ 92.0 [ 92.0 | 80.0 | 74.5 | 63.5 [ 226 | 800 [11.03| 300 | 260 | 200 [0.700| 73 | 160
15 | 20 | 980 [ 180L | 92.9 [ 93.0 [ 935 | 84.0 [ 80.0 [ 71.0 [ 202 | 800 |14.89| 275 | 230 | 200 [1.782| 77 | 240
185 | 25 | 980 | 200L | 934 | 940 | 930 | 865 | 84.0 | 740 | 348 | 645 | 1837| 200 | 165 | 230 [2791| 80 | 331
22 | 30 | 980 [200L | 937 | 938 | 928 | 855 | 820 | 740 | 41.7 | 695 [21.84| 220 | 180 | 245 [3.023| 80 | 343
30 | 40 | 980 |225M| 942 | 94.4 | 94.4 | 850 | 825 | 75.0 | 56.9 | 725 | 29.79| 225 | 190 | 245 | 4.559| 80 | 440
37 | 50 | 985 |250M| 945 | 949 | 949 | 850 | 81.5 | 73.0 | 70.0 | 740 | 36.55| 175 | 165 | 275 | 6.011| 82 | 572
45 | 60 | 988 [280S| 948 [94.8 [ 942 | 850 [ 820 | 740 | 849 | 720 [4438| 180 | 160 | 250 [10.80 | 85 | 786
55 | 75 | 988 |280M| 951 | 951 | 94.8 | 855 | 82.0 | 74.0 | 103 | 720 |54.25| 180 | 160 | 250 |12.80 | 85 | 895
75 | 100 | 990 | 3155 | 954 | 953 | 94.5 | 855 | 82.0 | 74.0 | 140 | 700 | 7382 200 | 180 | 260 |2320| &g | 1075
90 | 125 | 990 | 315M| 956 | 955 | 94.8 | 855 | 82.0 | 74.0 | 167 | 770 |88.59 | 200 | 180 | 260 |26.00 | gg | 1200
110 | 150 | 990 | 315L | 95.8 | 95.8 | 95.3 | 85.5 | 825 | 74.0 [ 204 | 759 [108.3 140 [ 120 [ 240 [30.40| g [ 1410
132 | 175 | 990 | 315L | 96.0 | 96.0 | 95.3 | 85.5 | 82.5 | 75.0 [ 244 | 759 [129.9 | 140 [ 120 [ 240 [34.40| g9 [ 1575
160 | 215 | 990 | 355M| 96.2 | 96.0 | 953 | 85.0 | 81.5 [ 725 [ 207 [ 759 [157.5| 140 [ 120 | 250 [36.40 | o4 | 1800
200 | 270 | 990 [355M| 96.3 | 96.2 | 956 | 85.0 | 81.5 | 725 | 371 | 790 |196.9 [ 140 | 120 | 250 |44.00 | g4 | 2000

250 | 335 | 990 | 355L | 965 | 96.4 | 958 | 855 | 82.0 | 73.0 | 460 | 750 |246.1 | 160 | 140 [ 250 |53.20 | g4 | 2300
NOTE: 1.The above are typical values based on test according to GB/T 1032 method B, IEC 60034-2-1:2014.
2. Tolerance according to GB 755, IEC 60034-1.
3. Breakdown & Locked rotor torques are show as average expected voltages.
4. Efficiency, power factor, speed and torque are the same for other voltages.
Current values vary inversely with voltage.
5. Noise : sound power level at no-load, dB(A), Tolerance + 3 dB(A)
6. Data subject to change without notice.

20

42 E Outline (TEV3)
SMNERZERTE

TECO

Z#EAHI: B3 (IM1001)

Holes EB

FIG.1

Dimension in mm

Output (kW) FRAME FIG. , aa ol =] =

2P E4E BBPE =8 SIZE NO.

0751085 — 10.18) gy |  |125]|34.5] 161|177 | 152] 110| 55 | 100| — | 46 | 46 | 137|53.5] 50 | 80 | 10 [ 115
1.1 |0.75| 0.55] 0.25

15| 1.1|0.75/037| 908 140 40 | 180|197 | 162|110 55 | 100| ~ |67.5|67.5| 161|605 56 | 90 | 10 | 125
22| 15| 11055 9oL 140 | 40 | 180|197 | 162| 10| 55 | 125| — |60.5|60.5] 171| 745| 56 | 90 | 10 | 125
3 122151075 4o0. | 2 |160]| 40 | 200|219 |1785| 127 | 63.5| 140| — |66.5|66.5| 181|7255] 63 | 100 12 [ 138
| 3| =11

4| a|22|15]| 112m 100 | 45 | 235|235 | 191 | 127 |635| 140| — |65.5|65.5| 186 | 75 | 70 | 12| 13 [1505

SHAFT EXTENSION BEARING

OPPOSITE

D = EB EF EG F G GA DB DRIVE END

DRIVE END

80M 10 292 110| 40 | M20X1.5| 19 | 40 | 32| 4 | 16 6 |15.5(21.5| M6 | 620427 | 6203ZZ

90s 10 344 110| 40 | M20X15| 24 | 50 | 40 | &5 |19 | 8 | 20 | 27 | M8 | 6205ZZ | 6204ZZ

90L 10 354 110| 40 | M20X15| 24 | 50 | 40 | &5 |19 | 8 | 20 | 27 | M8 | 6205ZZ | 6204ZZ

100L 12 391 120| 50 | M25X15| 28 | 60 | 50 | & | 22 | 8 | 24 | 31 [M10]| 6206ZZ | 6205ZZ

112M 12 412.5 120| 50 | M25X1.5| 28 | 60 | 50 | S5 | 22 8§ | 24 | 31 |M10| 6306ZZ | 6305ZZ

Note : 1. Tolerance of shaft end diameter D : j6. 3. T-Box Assy with a cable grand body.

2. Tolerance of shaft center high H: +0, -0.5.

21



5MEZE Outline (TEV3) 5N B Outline (TEv3) TECO

él‘ﬁﬁﬂ?c%éﬁﬂ' =iEAR: B3 (IM1001) ﬁl‘ﬁéﬁﬁ%ﬁﬂ' w#AH: B3 (IM1001)

AG LL

UB

]

BTN

(RN
wltl
|

3

GA

D DB

FIG.4 FIG.5

Dimension in mm
FIG.3 Dimension in mm

" FRAME Output (kW) FRAME
IR N B, AB AC AD AG AS ' BB
SIZE
1 l11|7s5] 4
gg 55| 3 22| , |216| 57 [263] 275 |a00| 127 [635| 140 | | 64 | 64 | 184 65 | @0 [152] 16 [ 168 | 12 | aso w7 S| teom |, |254 60 [ 300 317|234 | 166 | 83 [210| — | 57 | 57 [250 [ 105|108 | 160 | 18 [ 192|145
Tl e [ & 185 15| 11 | 75| 1e0L 254 | 60 | 300|317 | 234 | 166 | 83 | 254 | 210| 97 | 97 | 204 | 127 | 108 | 160 | 18 | 192|145
g (o= 132M 216 | 57 | 263|273 |2085| 127 |63.5| 178 | 140 | 83.5|83.5| 222| 84 | 89 | 132] 16 | 168| 12 | 404
b [ | | 22 |185] =] = 180M 5 [279] 65 | 330|354 | 266|166 | 83 | 241| — | 65 | 65 | 292 |1205| 121 | 180 | 20 | 218 |14.5
Sl AR et =il | 22|15 11| 180L 279 | 65 | 330 | 354 | 266 | 166 | 83 | 279 | 241 | 115| 115 | 330 |139.5] 121 | 180 | 20 | 218|145

EE EB EF EG G GA DB DRIVE END i EXTENSION BEARING

SIZE DRIVE END

FRAME OPPOSITE

DB DRIVE END

1328 120| S0 M25X1.5 38 |8 (70| 5 |28 10| 33 | 41 [M12| 6308ZZ | 6308ZZ
DRIVE END

132M | 120] S0 M25X1.5 38|80 | 70| 5|28 | 10| 33 | 41 |[M12| 6308ZZ | 6306ZZ

160M | 608 | 160 60 | M32X1.5 | 42 | 110|100 5 | 36 | 12 | 37 | 45 [M16]| 6309ZZ | 6307ZZ

Note : 1. Tolerance of shaft end diameter D : k6.
160L 652 160 | 60 | M32X1.5 | 42 | 110 100| 5 36| 12 | 37 | 45 |M16| 630922 630722

2. Tolerance of shaft center high H : +0, -0.5.
180M |672|160| 70 | M32X15 | 48 |110|100| 5 | 36 | 14 [42.5|51.5| M16|(63112ZC3)| (6310ZZC3)
3. T-Box Assy with a cable grand body.

180L | 710(160| 70 | M32X1.5 | 48 | 110(100| 5 | 36 | 14 [42.5|51.5|M16]| 6311Z2Z | 6310ZZ

Note : 1. Tolerance of shaft end diameter D : 142 : k8.
2. Tolerance of shaft center high H: +0, -0.5.
3. Bearing No. In( ) is for 2P.

4. T-Box Assy with a cable grand body.

22 23



23

M

IMER R

QOutline (TEV3)
R~TE

Z#E AR B3 (IM1001)
| . - BT _\\
I /1 " Al ) = . i “
. FL-I - BA
Dimension in mm

Output (kW) FRAME FIG. AC AD AG
4P 6P
o l30|% 15 200 318 | 70 | 378 | 398 |304.5| 215 [107.5| 305 | — | 82 | 82 | 353 |152.5) 133 200 24 | 241|185
-— | 37 | -—- |18.5] 2258C 6 | 356| 75 | 431 | 449 |330.5| 215 |107.5| 286 | —- |98.5|98.5( 371|143 | 149 | 225 28 | 267 | 18.5
45 | — | - | - 225MA 356 | 75 | 431 | 449 |330.5] 215 |107.5| 311 | 286 | 110 110 | 396 [155.5] 149 | 225 | 28 | 267 | 18.5
— | 45| 30 | 22 225MC 356 | 75 | 431 | 449 |330.5| 215 |107.5| 311 | 286 | 110 | 110 | 396 |155.5| 149 | 225 | 28 | 267 | 18.5
55 | —— | - | - 250MA 7 | 406 | 85 | 480 | 499 |372.5] 249 |124.5| 349 | --- |1125|1125| 425 |174.5| 168 | 250 | 30 | 300| 24
-— | 55| 37 | 30 250MC 406 | 85 | 480 | 499 |372.5] 249 | 124.5| 349 | - |112.5{112.5] 425 [174.5] 168 | 250 30 | 300 | 24
EXTENSION BEARING
EG F G DRIVE END O OSITE
DRIVE END
200L 770|199 80 msox.15| 55 | 110 100| 5 42 | 16 | 49 | 59 | M20|(631222C3)| (621222C3)
631277 | 821222
225SC | 816 199 90 Ms0X15| 60 | 140|125| 7.5 ] 42 | 18 | 53 | 64 | M20
(631222C3)| (621222C3)
225MA | 811 199 90 |msox1s5| 55 |110[(100| 5 | 42 | 16 | 49 | 59 | M20
631322 | 62132z
225MC | 841 199 90 M50X15| 60 | 140|125| 75| 42 | 18 | 53 | 64 | M20
250MA [921 | 224| 105 |[meaxis| 60 [ 140|125|7.5) 42 | 18 | 53 | 64 |M20| 6313-ZC3 | 6313-ZC3
250MC | 921 | 224 105 Me3X15| 65 | 140|125| 75| 42 | 18 | 58 | 69 | M20| 6315-Z 6313-Z
Note : 1. Tolerance of shaft end diameter D : m6.
2. Tolerance of shaft center high H: +0, -0.5.
3. Bearing No. In( ) is for 2P.
4. T-Box Assy with a cable grand body.
24

M

Z

MR &5

QOutline (Tev3)
R~E

AC
AG
AS
W e
wl 0
o o 73 % <
—BE=- i
°, ' \0 % T
E"’ \__u_,
AA [ AA
A DK
AB oles

TECO

Z#FH: B3 (IM1001)

L O
E LL
| I uB
BC
L
1 °
eF| E8 j J —
EG
— | (]
L ———y T L~
BA BA'
Cc

Dimension in mm

FRAME
SIZE
75 - == - | 2B0SA | 457 | 110 | 560 | 546 |408.5| 249 |124.5| 368 | 110 | 110 | 455 | 48 | 190 | 280 | 35 | 336 | 24
— | 75| 45 | 37 | 280SB | 457 | 110 | 560 | 546 |408.5| 249 |124.5| 368 | 110 | 110 | 455 | 48 | 190 | 280 | 35 | 336 | 24
90 - - - | 280MA | 457 | 110 | 560 | 546 |408.5| 249 |124.5| 419 | 115 | 115 | 505 | 48 | 190 | 280 | 35 | 336 | 24
- 90 | 55 | 45 | 280MB | 457 | 110 | 560 | 546 [408.5| 249 [124.5| 419 | 115 | 115 | 505 | 48 | 190 | 280 35 | 336 | 24
A C B L) = £ B ila

280SA 1037.5 224 140 | M63X1.5 | 65 | 140 | 125 | 7.5 | 40 18 | 58 | 69 | M20| 6314C3 6314C3

280SB 1037.5 224 140 | M63X15 | 75 | 140|125 75| 40 | 20 | 67.5| 79.5| M20| 6318C3 6316C3

280MA 1087.5 224 140 | M63X1.5 | 65 | 140 | 125 | 7.5 | 40 18 | 58 | 69 | M20| 6314C3 6314C3
280MB 1087.5 224 140 | MB3X1.5 | 75 | 140 | 125 | 75| 40 | 20 | 67.5| 79.5| M20| 6318C3 6316C3

Note : 1. Tolerance of Shaft End Diameter D. m6

. Tolerance of Shaft Center Height H. +0, -1

2
3. Tolerance of Key Width F. h9
4

. T-Box Assy with a cable grand body.

25




AMEZE Outline (TEV3)
MY REERTE

4 M2 E] Outline (TEv3)
S REERTE

TECO

LA B3 (IM1001) Z#EAHR: B3 (IM1001)

AC L O AC L o
AG LL AG LL
AS E BE AS E BE
. 2-UB . nin (BN 2-UB
BC P i
= | \ BC = il T
o o s 2 | L] H wl o i ¥
EF| E8 ° o %
EF| EB
= = (€3 \oze Bl _ 7 \ - %
( - EG
S ! EG //’
° ° ¥ gz v
/0> o — | Z 0 . A3 ' 7
A | AA BA BA' . 4-©K HOLES LEEE it brdilooo o — Lo -
A C B AlA BA BA' 4
AA -OK HOLES
AB BB A = B
AB BB

Dimension in mm Dimension in mm

Output (kW) FRAME Output (kW) FRAME
6P SIZE SIZE
106 | 216 | 315 132 = | = | -~ | 315MA | 508 | 115 | 630 | 620 |4815| 318 | 144 | 457 | 230 | 230 [ 640 | 53 | 106 | 216 | 315 | 45 | 384
106 | 216 | 315 - |1 132)] 90 | 75 | 315MB | 508 | 115 | 630 | 620 (481.5| 318 | 144 | 457 | 230 | 230 | 640 | 53 | 106 | 216 | 315 | 45 | 384
SHAFT EXTENSION BEARING A O BEAR
FRAME EB EF EG DRIVE END OPPOSITE RA - - o OPPO
SIZE DRIVE END R
3155A 28 | 1162| 288 180 | MB3X1.5 65 | 140 | 125 | 7.5 | 40 18 | 58 | 69 | M20| 6316C3 6314C3 315MA 28 |1246| 288 180 | M63X1.5 | 65 | 140 | 125 | 7.5 | 40 18 | 58 | 69 | M20| 6316C3 6314C3
315SB 28 |1192]| 288 180 | M63X1.5 | 80 | 170 | 160 | 5 40 | 22 | 71 85 | M20| 86320C3 6316C3 315MB 28 |1276| 288 180 | M63X1.5 | 80 | 170 | 160 | 5 40 | 22 | ™ 85 | M20| 6320C3 6316C3
Note : 1. Tolerance of Shaft End Diameter D: m6 Note : 1. Tolerance of Shaft End Diameter D. m6
2. Tolerance of Shaft Center Height H: +0, -1 2. Tolerance of Shaft Center Height H. +0, -1
3. Tolerance of Key Width F : h9 3. Tolerance of Key Width F. h9

26

4. T-Box Assy with two cable grand bodys.

4. T-Box Assy with two cable grand bodys.

27



A2 E Outline (TEv3)
MY R TR

L&AHH: B3 (IM1001)

AC L o]
AG LL
AS E BE
" 2-UB
Fil | I
B .
w0 N4 \
o o T < z
EF| EB
o, )
J ) EG
I
o (+] I I |
r!"Q/ \'gw E ) j
o =y o8 ke T — a7 ] - /.
ks LA BA BA N 40K HOLES
A C B
AB BB

Qutput (kW) FRAME

144 | 508 | 230 | 230

Dimension in mm

106 | 216 | 315

106 | 216 | 315 | 45 | 384

SHAFT EXTENSION BEARING
FRAME EB EE EG DRIVE END OPPOSITE
SIZE DRIVE END
315LA 28 |1346| 288 180 | MB3X1.5 65 | 140 | 125 | 75| 40 | 18 | 58 | 69 | M20| 6316C3 6314C3
315LB 28 |1376| 288 180 | M63X1.5 | 80 | 170 | 160 | 5 40 | 22 | 71 85 | M20| 6320C3 6316C3

Note : 1. Tolerance of Shaft End Diameter D. m6
2. Tolerance of Shaft Center Height H. +0, -1
3. Tolerance of Key Width F: h9
4.T-Box Assy with two cable grand bodys.
28

42 E Outline (TEV3)
MY RZERE

TECO

T H: B3 (IM1001)

AC L o)
- LL
AS - BE
I 2-UB
BC | — ™
% % o] [ H ] 1 Tle
EF EB ! 1 1 | ] Iy
g = = = .
EG | A
<<
* I - | v,
fo¥; de) i : =5 Z
= 5 = L =y i— = BRI OR S
== -DK H
AA | [ AA BA oo~ b-OK HOLES
A ¢ c B
AB _ B
BB
O R
D NDB

Qutput (kW)

FRAME
A AA  AB AC AD AG
SIZE

Dimension in mm

355MA | 610 | 150 | 750 | 682 | 573 | 408 | 184 | -

560 | 310 | 310

910 | 43

355MB | 610 | 150 | 750 | 682 | 573 | 408 | 184 | -

560 | 310 | 310

910 | 43

SHAFT EXTENSION BEARING
EB EF EG pg DPRIVEEND OPPOSITE
DRIVE END
355MA | 469 | 28 1687 | 372 | 230 M72X2 75 | 140 | 125 | 7.5 | 40 | 20 | 67.5|79.5| M20| 6317C3 6317C3
355MB 469 | 28 1717 | 372 | 230 M72X2 95 | 170 | 160 | 5 48 | 25 | 86 | 100 | M24 | 6322C3 6322C3

Note : 1. Tolerance of Shaft End Diameter D: m6
2. Tolerance of Shaft Center Height H. +0, -1
3. Tolerance of Key Width F: h9

4 T-Box Assy with two cable grand bodys.

29



M2 B Outline (TEV3) A2 & Outline (TEV3) T E co

AME R &2k R~ & LA B3 (IM1001) AME R Z3ER~TE

T H: B3 (IM1001)

AC L @] o
i LL
AS E BE
I .l 2-UB
i 1 T (}'_@ia—-‘r‘f
w0 BC. W= =4 i
Il< 1T =% i @ v
EF | EB t Al .
i = — — =
EG ] 7
:"‘:: 5
S, %9 i
i i g R =] L, i
A B = === _6-OK HOLES
A ¢ c g
AB B
BB

o
8 Lo |

Dimension in mm

Dimension in mm

Output (kW) FRAME Output (kW) FRAME
AC AD AG A AA AB AC AD AG AS
6P 8P SIZE SIZE
3M5| - | — | — | 355LA | 610 | 150 | 750 | 682 | 573 | 408 | 184 | 630 | — | 310 | 310 | 910 | 43 | 130 | 254 | 355 | 45 as5cA | 610 | 150 | 750 | 810 | 633 | 408 710 | 900 | 390 | 300 180 | 254 | 2355
— | 315 | 250 | 200 | 355LB | 610 | 150 | 750 | 682 | 573 | 408 | 184 | 630 | -~ | 310 | 310 | 910 | 43 | 130 | 254 | 355 | 45
355 | 315
SHAET EXTENSION BEARING = | 400 | 355 250 | 355CB | 610 | 150 | 750 | 810 | 633 | 408 | 184 | 710 | 900 | 390 | 390 | 1100| 48 | 180 | 254 | 355 | 45
FRAME EB EF EG : DRIVE END OPPOSITE SHAFT EXTENSION BEARING
SIZE DRIVE END FRAME OPPOSITE
27 =& = S FLS DRIVE END
355LA 469 | 28 1687 | 372 | 230 M72X2 75 | 1401125 | 75| 40 | 20 | 67.5]79.5| M20| 6317C3 6317C3

DRIVE END

355LB 469 | 28 1717 | 372 | 230 M72X2 95 | 170|160 | 5 48 | 25 | 86 | 100 | M24 | 6322C3 6322C3

355CA 529 | 28 1765 | 372 | 230 M72X2 75 | 140 (125 | 75 | 40 | 20 | 67.5]| 79.5| M20| 6317C3 6317C3

Note : 1. Tolerance of Shaft End Diameter D: m6

355CB | 529 | 28 1795 | 372 | 230 | M72X2 95 | 170 | 160 | 5 | 48 | 25 | 86 | 100 [ M24 [ 6322C3 6322C3

2. Tolerance of Shaft Center Height H. +0, -1

. Note : 1. Tolerance of Shaft End Diameter D: m6
3. Tolerance of Key Width F: h9

2. Tol f Shaft Center Height H. +0, -1
4 T-Box Assy with two cable grand bodys. e T o o Hel

3. Tolerance of Key Width F: h9

4.T-Box Assy with two cable grand bodies.

30 31



5NISE Outline (Teva) 4MIZE Outline (Teva) TECO

5’[‘%&%?”2%RTJ' 2iEHSE: B5 (IM3001) f’l‘ﬁ?ﬁ?z%ﬁﬂ'@ ZEEAR: B5 (IM3001)

i O L o]
AG L LE LL s AG LE LL
AS AS uB
et / Pt
T +
T oAk o]
| re | j: /f
HE—T—— Z = X
i E';Tr“f.‘ ........... ) o . EB .
| —e e & l 1
— == =3 :;_ _____________ = = = U
( . 7 . <
: EG -
- £ LA ) ‘E: e 0 g 74
e » _ﬁ |
1 .
|
- | i e
G I - W .
Holes
FIG.1 FIG.2 DiFiERsicH 1 FIG.3 Dimension in mm
Output (kW) FRAME FIG. FLANGE DIMENSION Output (kW) FRAME FIG. FLANGE DIMENSION
e oSl s 8P SIZE NO. LE M N P
0.75(0.55| - |0.18 S |22 3.8 1990 16 | 60 | 215| 180| 250 [14.5| 4 |219|1785| 127 |63.5| 138 |1355| 391 | 120| 50
el : 80M 1 | 12| 40 |165|130|200| 12 | 35| 177 |152|110| 55| 115 |10ss| 292 =l | = b : : : -
11 |0.75]0.55]| 0.25 :
1511110750371 s0s 12 | 50 1651 1301 2001 12 | 35| 197 |162] 10| 55 | 125 |wzss| 222 4| 4 |22]15] 112m 15 | 60 | 215| 180| 250 [14.5| 4 | 235|191 127 |63.5|150.5] 145 |4125| 120 | 50
2
22| 15[ 11055 9oL 12| 50 | 165|130|200| 12 | 35| 197 |162]|110| 55| 125 |1305| 354 ?2 551 3 [22) 4355 | 3 | 16 | 80 | 265|230 300|14.5| 4 |273|2085| 127 |63.5| 168 | 154 | 456 | 120| 50
SHAFT EXTENSION BEARING T R =
e (12 132M 16 | 80 | 265| 230|300 [14.5| 4 |273|2085| 127 |63.5| 168 | 173 | 494 | 120| 50
FRAME LL EF EG = G GA DB DRIVEEND OPPOSITE

SIZE DRIVE END

SHAFT EXTENSION BEARING

80M 110 40 | M20X15 | 19 [ 40 | 32 | 4 | 16 | 6 [155(21.5| M6 | 6204ZZ | 6203ZZ FRAME OPPOSITE

ER = 1 DRIVE END

90S 110 40 | M20xX15| 24 | 50 | 40| 5 | 19| 8 | 20 | 27 | M8 | 62052z | 6204zZ SIZE DRIVE END

9oL [110| 40 | M20x1.5 | 24 | 50 | 40 | 5 [ 19| 8 | 20 | 27 | m8 | 62052z | 620422 100k | MESX¥S |28 | 98 | M) B |32 | 16 |24 St WMD) BRO0SKZ. | HR0NE

112M M25X1.5 | 28 | 60 | 50 | &S | 22| 8 | 24 | 31 |[M10| 6306ZZ | 6305ZZ

Note : 1. Tolerance of shaft end diameter D. j6.
1328 M25X1.5 | 38 | 80 | 70 5 28 | 10 | 33 | 41 |M12]| 6308ZZ 630627

2. Tolerance of N : j6.
132M M25X1.5| 38 | 80 | 70 5 28 | 10 | 33 | 41 | M12]| 6308ZZ 630622

3. T-Box Assy with a cable grand body.
Note : 1. Tolerance of shaft end diameter D : ¢28 : j6, ¢/ 38:k6 .

2. Tolerance of N : j6.

3. T-Box Assy with a cable grand body.

32 33



IMBE

IMER R

QOutline (TEV3)
R~TE

=

AT
ANNNNNNANNNN

27 B5 (IM3001)

A2 E Outline (TEV3)
MG RZERTE

SRR

TECO

=z#HH: B5 (IM3001)

FIG.4 FIG.5 CRSREER T i FIG.6 FIG.7 Dimension in mm
Output (kW) FRAME FIG. FLANGE DIMENSION Qutput (kW) FRAME FIG. FLANGE DIMENSION
2P 4P 6P SIZE NO. LA LE M N P S 6P 8P SIZE NO. LA LE M N P S
1; 1|75 545 160M 15 [ 110 300| 250|350 | 18.5| 5 | 350|234 |166| 83 |192| 213 | 608 160| 60 — | 37 | — [185] 225s¢C 20 | 140 | 400|350 [ 450 | 18.5| 5 |450|3305(215| 1075 |[267| 202 |816
: 4
185 15 [ 11 [ 75| 1oL 15 | 110|300 [ 250 [ 350 [18.5| 5 |350|234| 166| 83 [192| 235 [652| 160| 60 9| rem | el o | 220ME | 8 | S00)410 200 SO0 ||S00 19651 @ || G0G]sRel 2] 0D 26T SUaw [ Bid
22 [185| — | — | 180M 15 | 110 300|250 [ 350 | 18.5| 5 |354[266| 166 83 |[218]|241.5|672[ 160| 70 = ]45] 30 | 22| 225MC 20 | 14014001 350 450118.5| 'S |49013305| 215| 1075 |267] 3045 | 841
— 2215 11| 180L | 5| 15|110|300(250|350|18.5| 5 |354|266|166| 83 |218|260.5| 710|160 70 55 | =~ [ — | — | 250MA ; 22 | 140|500 | 450 | 550 (18.5( 5 (550 (3725(249( 1245 |300| 3425 |921
e 3 3725 ! i
gg 30 12'25 15 | 200L 17 | 110| 350 | 300 [ 400 [18.5| 5 | 4003045 215| 1075 |[241 2855|770 199 80 B W 2] MO 900] 450 | 550 |185] B | o) AR w48 [0 Bee 9
SHAFT EXTENSION BEARING
SHAFT EXTENSION BEARING
OPPOSITE EB EF EG F G GA DB DRVEEND T TOSITE
D = EB. EF DB DRIVE END e
DRIVE END
DRIVE END
225sC | 199 90 | Ms0x1.5 | 60 | 140]|125| 75| 42 | 18 | 53 | 64 [M20
160M | M32x1.5 | 42 [110|100| 5 | 36 | 12 | 37 | 45 |m16| 63092z | 63072z (631222C3)| (621222C3)
225MA | 199| 90 | M50X1.5 | 55 | 110[100| 5 | 42 | 16 | 49 | 59 | m20
160L | M32x1.5 | 42 |110[100| 5 | 36 | 12 | 37 | 45 |m16| 63002z | 63072z 6313z | 621322
225MC | 199| 90 | M50X1.5 | 60 | 140 125( 7.5| 42 | 18 | 53 | 64 |m20
180M | M32x1.5 | 48 [110|100| 5 | 36 | 14 [425|51.5| M16|(631122C3)| (631022C3)
250MA | 224|105 | M63X1.5 | 60 | 140 [ 125( 7.5| 42 | 18 | 53 | €4 | M20|6313-zC3| 6313-C3
180L | M32x1.5 | 48 | 110[100| 5 | 36 | 14 |42.5|51.5|m16| 63112z | 631022
250MC | 224|105 | Me3x1.5 | 65 | 140 125( 7.5 | 42 | 18 | 58 | 69 |M20| 63152 | 6313-Z
200L | M50X1.5 | 55 [110(100| 5 | 42 | 16 | 49 | 59 | M20|e31222C3)| (621222C3)
631277 | 621222 Note : 1.Tolerance of shaft end diameter D : m6.
Note : 1. Tolerance of shaft end diameter D:a) .¢42~¢48 : k6 ;b) .¢55 : mé. 2. Tolerance of N : j6.

3. Bearing No. In( ) is for 2P. 4. T-Box Assy with a cable grand body.

2. Tolerance of N : j6

3. Bearing No. In( ) is for 2P. 4. T-Box Assy with a cable grand body.

34 35



5N E Outline (TEv3) 5MEZE Outline (TEva) TECO

5’[‘%&5‘?%‘%RTJ'@ 2EEHE: B5 (IM3001) 5’[‘%&?{%‘%)?# wEEAR: B5 (IM3001)

AG L 0 L @]
AG LL
LE LL UB
AS BE
i | 4% I L
1 1
: i — oYe
ul< e 1 0 ~
i - o
e Xr EF| EB 7
= z | === - - | v
| L= _— . X o |
ale : | S [ -
g a E G — - I %
L E \ 1 /
--""'I:' I
-& I
Q‘Q‘ i / S e
T LA ’ — K
B~¢8 HOLES HH
F
=t HH
w % o
¢D | \DB
Dimension in mm Dimension in mm

Output (kW) FRAME FLANGE DIMENSION Output (kW) FRAME FLANGE DIMENSION

4P 6P LE M N P BRY | SBPE FSIZE BIEAN BIE M

5 || = | oo | o 280SA 22 | 140 | 500 | 450 | 550 | 185| 5 | 709 | 408.5 | 249 |124.5| 335 | 238 | 1037.5 715 | 456.5( 318

55 |[315SB| 25 | 170 | 600 | 550 | 660 | 24 6 | 715 | 456.5| 318 | 144 | 106 | 359 | 269 | 1192| 288 | 180

- | 75 | 45 | 37 280SB 22 | 140 | 500 | 450 | 550 | 18.5| 5 | 709 | 408.5 | 249 |124.5| 335 | 238 1037.5

90 | — | — | — | 280MA | 22 | 140|500 | 450 | 550 [ 185| 5 [ 709 | 4085 | 249 |124.5) 335 | 238 | 10875 gl et = bl

— | 90| 55| 45 | 280mMB | 22 | 140 | 500 | 450 | 550 | 18.5| 5 | 709 | 408.5 | 249 [124.5| 335 | 238 | 1087.5 FRAME EF E6 F G GA DB DRIVEENp OPPOSITE

SIZE DRIVE END
SHAFT EXTENSION BEARING

3158A M63X15 | 65 | 140 ( 125| 75| 40 | 18 | 58 | 69 | M20| 6316C3 6314C3

FRAME OPPOSITE

EF EG DRIVE END

3158B M63X1.5 | 80 | 170 | 160 | 5 40 | 22 | ™M 85 | M20| B320C3 6316C3

SIZE DRIVE END

Note : 1. Tolerance of Shaft End Diameter D: m6
280SA 224 | 140 | M63X1.5 65 | 140 125| 7.5 | 40 18 58 69 M20 6314C3 6314C3

2. Tolerance of Key Width F. h9
280SB 224 | 140 | M63X1.5 75 | 140 | 125| 7.5 | 40 20 | 67.5]|79.5| M20 6318C3 6316C3

3. Tolerance of N :js6

280MA 224 | 140 | M63X1.5 65 | 140 | 125 | 7.5 | 40 18 58 69 | M20 6314C3 6314C3 )
4 T-Box Assy with two cable grand bodys.

280MB | 224 | 140 [ MB3X1.5 | 75 | 140 [ 125| 7.5 | 40 | 20 |67.5|79.5| M20 6318C3 6316C3

Note : 1. Tolerance of Shaft End Diameter D: m6
2. Tolerance of Key Width F. h9

3. Tolerance of N : |6

4. T-Box Assy with a cable grand bodys.

36 37



AMEZE Outline (TEV3)
MY REERTE

27 B5 (IM3001)

DP
DN

SSNASRNAAN

Dimension in mm

Output (kW) FRAME FLANGE DIMENSION
SIZE LE M N
132| = | — | — |315MA| 25 | 140 | 600 | 550 | 660 | 24 | 6 | 769 | 481.5 | 318 | 144 | 106 | 384 | 269 | 1246| 288 | 180
~- | 132] 90 | 75 [315MB| 25 | 170 | 600 | 550 | 660 | 24 6 | 769 | 481.5 | 318 | 144 | 106 | 384 | 269 [ 1276| 288 | 180
SHAFT EXTENSION BEARING
EPANE EB EF EG DRIVE END OPPOSITE
SIZE DRIVE END
315MA M63X1.5 65 140 | 125| 7.5 | 40 18 58 | 69 | M20 6316C3 6314C3
315MB MB3X1.5 80 170 | 160 | 5 40 | 22 | 71 85 | M20 6320C3 6316C3
Note : 1. Tolerance of Shaft End Diameter D: m6
2. Tolerance of Key Width F. h9
3. Tolerance of N : js6
4. T-Box Assy with two cable grand bodys.
38

A2 E Outline (TEV3)
MY REERTE

==

{1
P

AN

FIG.1

TECO

REFI: B35

(IM 2001)

i

;

Ac
...

FIG.2

Dimension in mm

Qutput (kW) FRAME FIG FLANGE DIMENSION A AA AB AC AD AG AS B
SIZE NO EE MY M | GR | USS T]
0.751055| — 10181 gom | 1 [ 12| 40 [165]130|200| 12 | 3.5|125|345] 161]177|152| 110| 55 [100] — | 46 | 46 | 137| 53.5( 50 | 80
1.1 |0.75|0.55|0.25
15| 1.1]075|037| 90s | 2 | 12| 50 [165|130|200| 12 | 3.5(140| 40 | 180|197|162| 110 | 55 |100| — | 67.5|67.5]| 161| 69.5| 56 | 90
22]15]11]055| 9oL 12 | 50 | 165|130 200| 12 | 3.5|140| 40 |180|197|162| 110 | 55 |[125| — | 60.5|60.5| 171 | 74.5| 56 | 90
SHAFT EXTENSION BEARING
ERAN E EB EF EG F DRivEEnD  OPPOSITE
DRIVE END

80M 10 115 10 292 110| 40 |M20X1.5| 19| 40| 32| 4 | 16| 6 |155]| 21.5| M6 620422 620322

90s 10 125 10 344 110| 40 |M20X1.5| 24 | 50| 40| 5 | 19| 8 | 20 27 | M8 620522 6204272

Q0L 10 125 10| 354 |110| 40 [M20X1.5| 24| 50| 40| 5 (19| 8 | 20 | 27 | M8 620522 620422
Note : 1. Tolerance of shaft end diameter D. j6.

2. Tolerance of shaft center high H : +0, -0.5.
3. Tolerance of N: j6.

4, T-Box Assy with a cable grand body.

39



IMEZE

SR &3 R~ E

QOutline (TEv3)

ZREFN:

B35 (IM2001)

|17

SN RE SR

Z

Outline (TEV3)

AT
b

TECO

REFI: B35

(IM 2001)

AC L O
LE
AS LL
ug
1 1
LA
'_"j' BU .
. =
o =
T i
L : 7
EF ||= EB .[ ?
5, - [ [ e | . - 1l o
s s : <\
| EG . //’
= E | — s 7
a &
L o i it z
A EA
4—¢S T < - |
Holes B '
4~HK BE DB
Heles
FIG.3 Dimension in mm
Output (kW) FRAME FIG FLANGE DIMENSION
4P 6P X NO. LE M N P S
2 232 1.5 01'_"15 100L 16 | 60 [215|180|250| 145 | 4 |160| 40 |200]|219|178.5] 127 | 63.5| 140 66.5| 66.5 [ 181| 725 63
4| 42215 112m 15 | 60 [215|180|250| 145 | 4 |190| 45 |235]|235| 191 | 127 | 635|140 65.5| 65.5[188] 75 | 70
?: 551 3 |22 4335 | 2 | 16| 80 |265|230{300| 14.5 | 4 |216| 57 | 263|273|208.5| 127 | 63.5| 140 64 |184| 65 | 89
—|[78] 4| 3| 132m 16 | 80 [265|230|300| 145 | 4 |218| 57 | 263 273|208.5] 127 | 635|178 835/ 835[222| 84 | 89
EXTENSION BEARING
DRIVEEND | COFFOSITE
DRIVE END
100L |100] 12 | 138 | 12| 391 120| 50 |m25x15| 28| 60 | 50| 5 | 22| 8 | 24| 31 |m10| 62062z 620522
112m | 112 13 [1505| 12 [4125] 120 50 |M25x1.5[ 28 | 60 [50| 5 | 22| 8 [ 24| 31 |m10| 630622 630522
1328 132 | 16 | 168 | 12 | 456 | 120] 50 | M25X1.5] 38 80 70 5 281 10| 33 41 M12 630822 630622
132m | 132 16 | 168 | 12 | 494 [120| 50 |M25x1.5[ 38| 80 [ 70| 5 | 28| 10| 33| 41 |m12| 630822 630622
Note : 1. Tolerance of shaft end diameter D: (28 : j6, ¢ 38:k6.

40

2. Tolerance of shaft center high H : +0, -0.5.

3. Tolerance of N: j6.

4. T-Box Assy with a cable grand body.

FIG.4 FIG.5 Dimension in mm
Output (kW) FRAME FIG FLANGE DIMENSION
2P 4P 6P SIZE NO. M
:; 1 | 78 ;5 160M " 15 | 110]|300| 250|350 18.5| 5 |254| 60 |300|318|234] 166 83 210 - | 57 57 256
185115 | 11 | 25| 1e6L 15 |110(300(250(350| 18.5| 5 |254| 60 [300(318(234| 166 83 254 | 210 | 97 97 300
22 | 18.5| -~ | - 180M 15 [110)|300| 250|350 18.5| 5 |279| 65 |330|354|266| 166 83 241| - | B5 65 292
— | 22| 15| 11| 180L | 5 | 15 [110|300|250|350|18.5| 5 |279| 65 | 330|354 |266| 166 83 279 | 241 | 115 115|330
:g 30 15; 15 200L 17 |110|350| 300|400 18.5| 5 |318)| 70 | 378|398 |2045] 215 1075 |305| — | 82 82 353
SHAFT EXTENSION BEARING
ERANE ) |0 EB EF EG £ | G oRive enp FPORTE
DRIVE END
160M 105 [ 108 | 160 18 [192| 14.5|608|160| 60 | M32X1.5| 42 | 110100 5 | 36| 12| 37 | 45 |Mi16| 6309ZZ 6307ZZ
160L | 127 | 108 | 160| 18 | 192)| 14.5|652| 160 60 | M32X1.5 | 42 [110(100( 5 [ 36 | 12 | 37 | 45 |M16| 6309ZZ | 6307ZZ
180M |120.5| 121 | 180| 20 [218|14.5|672(160| 70 | M32X1.5| 48 [110|100| S | 36 | 14 | 42.5|51.5|M16| (6311ZZC3) | (6310ZZC3)
180L [139.5 121 |180| 20 |218| 14.5|710( 160 70 | M32X1.5 | 48 [ 110100 5 [ 36 | 14 [42.5|51.5|M16| 6311ZZ | 6310ZZ
200L 1562.5| 133 |200| 24 |241]|18.5|770|199] 80 | M50X1.5| 55 [110[100| S | 42 | 16| 49 | 59 |M20| (6312ZZC3)| (6212ZZC3)
6312ZZ 6212ZZ
Note : 1. Tolerance of shaft end diameter D:a) .¢p42~¢48: k6 :b) .55 : m6.

2. Tolerance of shaft center high H: +0, -0.5.

3. Tolerance of N

5. T-Box Assy with a cable grand body.

4. Bearing No.

1 j6.
In (

) is for 2P.

41



M

M K% 3 R~ E

L3

QOutline (TEv3)

L

AT

NN

o

L&A B35 (IM2001)

=]

s

| Bx | BA

|17

MR

Z

=

=

Outline (Tev3)
4 R~

AA

TEC

P4

2 B35 (IM2001)

FIG.6 FIG.7 Dimension in mm Dimension in mm
Output (kW) FRAME FIG. FLANGE DIMENSION . e : ,.
BA BA' BB BC Output (kW) FRAME FLANGE DIMENSION A AA AB AC| AD | Ac
g N ) LS ) R0 [T 8 2P 4P 6P 8P SIZE LA LE M N P S
— | 37 | 185) 2288C 20 1140|400/ 3501450/ 18.5| 5 |356) 75 | 431)449)330.5)215) 1075 |286) — | 98.5|98.5371) 143 75 | - | - | — | 2808A | 22 [ 140|500 450| 550| 18.5| 5 |457|110|560|550|408.5{249| 1245 |368| 110 110|455 48 [190
45 | | — | — | 225MA | & | 20 (110|400|350|450|18.5| 5 |356| 75 |431|449(330.5|215| 1075 |311|286| 110 | 110 [396|1555
- | 75| 45| 37 | 280SB | 22 | 140| 500|450 550| 18.5| 5 [457|110]|560|550(408.5(249| 1245 |[368] 110| 110|455 48 | 190
— | 45| 30 | 22 | 225MC 20 | 140 400|350|450( 18.5| 5 [356| 75 |431|449|330.5|215| 107.5 |311|286| 110 | 110 [396| 1555
90 | -~ | — | — | 280MA | 22 | 140|500| 450{550| 18.5| 5 |457|110|560(550]|408.5| 249 1245 |[419] 115|115 505 | 48 | 190
55 | -~ | = | — | 250mA 22 |140| 500|450(550( 18.5| 5 |406| 85 |480(499|372.5|249| 1245 |349| — [1125|112.5(425)| 1745
T -—-| 90| 55| 45| 280MB | 22 | 140| 500| 450| 550( 18.5| 5 |457|110|560|550(408.5{249| 1245 |419|115] 115|505 48 | 190
— | 55 | 37 | 30 | 250MC 22 [140|500|450(550( 18.5]| 5 |406| 85 |480(499|372.5249| 124.5 |349| - [1125|112.5[ 4251745
SHAFT EXTENSION BEARING
EXTENSION BEARING
FRAME H HA OPPOSITE
D E EB EF EG F G GA DB DRVEEND
FRAME £a D8 | DRIVEEMD: | QPPGSITE
SIZE DRIVE END
SIZE DRIVE END
280SA |280( 35| 336 | 24 | 1037.5 |224|140| M63X1.5 | 65 [ 140|125 7.5]| 40 | 18| 58 | 69 |M20] 6314C3 | 6314C3
2255C | 149 | 225 | 28 |267|18.5[816|199| 90 | M50X1.5| 60 [140|125|7.5| 42| 18 | 53 | 64 [M20
(631222C3) | (621222C3)
ath. || 225128 laaz| 82 1510l o8| 56 Ineaxial 55 [amolool & 4z | 8 [ 20 | 58 haio 280SB [280| 35| 336 | 24 | 1037.5 |224|140| Me3Xx1.5 | 75 | 140[125]| 7.5| 40 | 20 |67.5|79.5|m20| 6318C3 | 6316C3
ST [ R | S (R Y | e e ) () ) B e | o e SEL S 280MA |280( 35| 336 | 24 | 1087.5 | 224| 140| M63x1.5 | 65 140|125 7.5]| 40 | 18| 58 | 69 |M20| 6314Cc3 | 6314C3
250MA | 168 | 250 | 30 |300| 24 |921|224|105|meax1.5| 60 [140[125| 75| 42 | 18| 53 | 64 |M20| e313zc3 | e313-zC3 2UOMB |J00] 90| 50 | o) METS |0 M) MONRER| o] i) 120] £ 40 | 20| 950] /SaIMEl (GHISES || SHIE0Y
250MC | 168 | 250 | 30 [300| 24 [921|224|105| me3x1.5] 65 [140[125(7.5| 42 | 18 | 58 | 69 |M20| 63152 63132 Note : 1. Tolerance of Shaft End Diameter D: mé
Note : 1. Tolerance of shaft end diameter D : mé. 2. Tolerance of Key Width F. h9
2. Tolerance of shaft center high H: +0, -0.5. 3. Tolerance of Shaft Center Height H. +0, -1
3. Tolerance of N : j6. 4. Tolerance of N:j6
4. Bearing No. In( ) is for 2P. 5. T-Box Assy with a cable grand body.
5. T-Box Assy with a cable grand body.
42 43



5NIZE Outline (Teva) 4MEZE Outline (TEv3) TECO

9]‘%&5‘?%)?71' 25 B35 (IM2001) 5’[‘%71?5%%)?# it 530 B35 (IM2001)

AC L O L O
AG LE LL LE LL
AS | | BE f BE
] 2us e il P . 2-UB
ulo BC | ()} & N B BC] ({8 _\
Il L 4 7 LIu 9: .
E- £ EF |
A
alZ oz
ols| - sle 2] N—Ta -
n £
< EG| ==
s i x CD\‘!\ b\ ! (/° % T
. | l J ¥ 4N 7 F—] — P
5.y e LI -—% 5[ brl : R — /3
& BA BA |~ 4-OK HOLES AAl [T AA F A BA BA| |\ 4-OK HOLES
C B ‘f AR ; & B
BB 8-®S HOLES/ ' Bg
8-©S HOLES | ol -5

LW
“
[ws)

Dimension in mm Dimension in mm

Output (KW) FRAME FLANGE DIMENSION AD AG AS B BA BA' BB BC BE Output (kW) FRAME FLANGE DIMENSION 7 AD AG AS B BA BA' BB BC BE
2P 4P 6P 8P SIZE LE| M N P = T 2P 4P 6P B8P SIZE LA LE M N P S T
110 — | — | — | 3155A | 25 | 140|600 |550)|1660)| 24 | 6 |508|115|615|660| 4565 |318|144|406|180| 180 | 580 | 53 | 106 132 - | — | -~ | 31SMA | 25 | 140|600 | 550|660 | 24 | 6 | S08| 115|630 |660| 4815 |318| 144|457 |240| 240 | 640 | 53 | 106
— |110| 75 | 55 | 31588 | 25 | 170| 600|550 |660| 24 | 6 |508|115|615|660| 4565 |318|144|406|180| 180 | 580 | 53 | 106 —-- |132| 90 | 75 | 315MB | 25 | 170|600 | 550|660 24 | 6 | 508 115|630|660| 4815 |318( 144|457 |240| 240 | 640 | 53 | 106
SHAFT EXTENSION BEARING SHAFT EXTENSION BEARING
E EB EF E6 F G ©GA DB DRVEEND 0T OoHE el iR s ' E EB EF EG F G GA DB DRVEEND O
DRIVE END SIZE DRIVE END
3158A | 216|315 35 369 | 28 1162 288|180 | MB3X1.5| 65 [ 140|125| 75| 40 | 18 | 58 | 69 |M20| B316C3 6314C3 315MA | 216 315 45 384 28 1246 288|180 | MB3X1.5| 65 | 140|125| 75| 40 | 18 | 58 | 69 |[M20| B316C3 6314C3
3158B | 216|315 35 |[369( 28 | 1192 |288|180| M63X1.5| 80 (170 160| 5 | 40 | 22 | 71 | 85 |M20| 6320C3 | 6316C3 315MB | 216|315 45 |384| 28 | 1276 |288)|180| M63X1.5| 80 |170|160( 5 | 40 | 22 | 71 | 85 [M20| 6320C3 | 6316C3
Note : 1. Tolerance of Shaft End Diameter D: m6 Note : 1. Tolerance of Shaft End Diameter D. m6
2. Tolerance of Key Width F. h9 2. Tolerance of Key Width F. h9
3. Tolerance of Shaft Center Height H. +0, -1 3. Tolerance of Shaft Center Height H. +0, -1

4. Tolerance of N :|s6 4. Tolerance of N:js6

5.T-Box Assy with two cable grand bodys. 5.T-Box Assy with two cable grand bodys.

44 45



AMEZE Outline (TEV3)
MY REERTE

A B35 (IM2001)

AG LE LL
AS T _BE_
L 1 2-UB
oo
BC| (M@
wi 0 = = [
T
EF | EB
a |z
— @'G = - e el B
N EG |
S il =
.\r‘: = f T r'-J‘J\"ﬂ- £
AA | . A BA BA’ 4-OK HOLES
] X C B
8-S HOLES ' 5 BB
N A

Dimension in mm

Output (kW) FRAME

FLANGE DIMENSION BE BC BE

LE M N P s

-= | =] -] 315LA | 25 [140|600|550|660| 24 | 6 |508| 130|630 |660| 4815 |318( 144|508 |230| 230|740 | 53 | 106

| 160|110 90
200|132 | 110

315L8 25 | 170|600 | 550|660 24 | 6 |508| 130|630 |660| 4815 |[318)144|508|230| 230 740 | 53 | 106

SHAFT EXTENSION BEARING

OPPOSITE
G GA DB DRIVEEND = ' =

E EB|EF EG| F

DRIVE END

315LA | 216 315 45 384 | 28 1346 | 288|180 | M63X1.5| 65 | 140|125 75| 40 | 18 | 58 | 69 |[M20| 6316C3 6314C3

315LB | 216|315 45 |[384| 28 1376 |288)180| Me3X1.5( 80 [ 170|160 5 | 40 | 22 [ 71 | 85 |M20| 6320C3 | 6316C3

Note : 1. Tolerance of Shaft End Diameter D. m6
2. Tolerance of Key Width F. h9
3. Tolerance of Shaft Center Height H: +0, -1
4. Tolerance of N :js6

5.T-Box Assy with two cable grand bodys.

46

SMEZE

MK %3 R~TE

Outline (TEv3)

TECO

L&A B35 (IM2001)

AC L 0

AS

AG LL
B
I

I =
!

@p
N

™1 L
—— = '- ®
/}la/- \\ il ! C— | e
EE- | ] [
[ 1]
1 H

' EG.
3

o 1 },

AIHHIIIH I N

i
Ny
I
i
J

1 |
A = BA
3 il " 6~8K HOLES
| AB
8~3S HOLES/ BE

Output (kW)

2P 4P 6P

8P

Dimension in mm

FRAME FLANGE DIMENSION

A AA AB AC AD AG AS BA BA' BB BC BE

SIZE LA LE M N |/ S il

355MA | 30 | 140)740(680|800| 24 | 6 |610|150| 750|800 | 573|408 | 184 560

310| 310 | 910 | 43 | 130

160 | 132

=== | 250

200 | 160

355MB | 30 | 170(740|680|800| 24 | 6 |610| 150 | 750 | 800 | 573 | 408 | 184 560

310| 310 | 910 | 43 | 130

SHAFT EXTENSION BEARING
FRAME C H D E EB EF EG F © GA DB DRWVEEND " TOOHE
SIZE DRIVE END
355MA | 254|355 45 |ae9| 28| 1687 |372|230| m72x2 | 75 | 140| 125| 7.5 | 40 | 20 |67.5|79.5|mM20| e317¢c3 | e317C3
355MB |254|355| 45 |[4e9| 28 | 1717 |[372|230| m72x2 | 95 |170|160| 5 | 48 | 25 | 86 | 100 |M24| 632203 | e322c3

Note : 1. Tolerance of Shaft End Diameter D;: m6

2. Tolerance of Key Width F. h9

3. Tolerance of Shaft Center Height H. +0, -1

4. Tolerance of N :js6

47



A2 E Outline (TEV3)
MR ZERE

L& H3: B35 (IM2001)

_AC L 0
AG LL
AS LE ...%'i..
T | .
S
"P-Tﬂ-\ \ } S
/”/— ¥ = E -".F | T . T T 1 Tle /
I \ / A/ d
o |
— ] 88 B~ |
EGUI_ T
5= 2 x
L ] P11 g c— 1 p— %
Al —"Tix BA -F%BA | 6-@K HOLES
| A LA B
| AB Cc B
BB

Dimension in mm

Qutput (kW) FRAME FLANGE DIMENSION
BA BA' BB BC BE

2P 4P 6P 8P SIZE LE N

315 =~ | - | —- | 355LA | 30 | 140| 740|680 800| 24 | 6 (610|150 | 750 | 800 | 573 | 408 | 184 630 310|310 | 910 | 43 | 130

-- | 315|250 | 200 | 355LB | 30 |170| 740|680 (800| 24 | 6 [610]| 150|750 | 800|573 | 408 | 184 630 310| 310 | 910 | 43 | 130
SHAFT EXTENSION BEARING

OPPOSITE

FRAME X 2 D E |EB EF EG | F G GA DB DRIVE END
SIZE DRIVE END

355LA | 254 | 355 45 469 | 28 1687 | 372(230| M72X2 | 75 | 140(125]| 7.5 | 40 | 20 |67.5|79.5|M20| 6317C3 6317C3

355LB | 254|355 45 469 | 28 1717 | 372|230 M72X2 | 95 |170(160| S | 48 | 25 | 86 | 100 |M24| 6322C3 6322C3

Note : 1. Tolerance of Shaft End Diameter D; mé
2. Tolerance of Key Width F. h9
3. Tolerance of Shaft Center Height H. +0, -1

4. Tolerance of N:jsb

48

A2 E Outline (TEV3)
MG RZERTE

TECO

Z#&HFHI: B35 (IM2001)

Dimension in mm

Output (kW) FLANGE DIMENSION
FRAME AC AD AG AS B B BA BA" BB BC BE

2F 4P 6P B8P LA LE| M| N | P |8

140| 740|680 (800 24 8101633|408)|184)710)900)350| 390 |1100| 48

170|740 (680 800| 24 810(633|408)|184|710|900(390| 390 |1100| 48

SHAFT EXTENSION BEARING

/ OPPOS
i) G EB EF EG F G GA DB DRIVEEND O OSITE

SIZE DRIVE END

355CA | 254355 45 529| 28 1765 | 3721230 M72X2 | 75 |140|125|7.5] 40 | 20 |67.5|79.5|M20] 6317C3 6317C3

355CB | 254355 45 529| 28 | 1795 (372|230 M72X2 | 95 |170(160| 5 | 48 | 25 | 86 |100|M24| 6322C3 | 6322C3

Note : 1. Tolerance of Shaft End Diameter D: m6
2. Tolerance of Key Width F. h9
3. Tolerance of Shaft Center Height H. +0, -1
4. Tolerance of N :js6

5.T-Box Assy with two cable grand bodies.

49



23

M

MR

QOutline (TEV3)

L3 R~TE

Y
” AC
)’m
us ! 2
._..\ y
V.

HH

ER
G

UL

2aEHH: V1 (IM3011)

LE
T
==

I

EH. _EB

FIG.2

Dimension in mm

2 Tolerance of N : j6

3. T-Box Assy with a cable grand body.

50

Output (kW) FRAME FIG. FLANGE DIMENSION
2P 4P 6P 8P SIZE NO. LE M N P s
0.7510.55) -~ 10.18] gy | 1 | 12| 40 | 165 130|200 12 | 35| 177 |152| 110 55 | 115 | 1035 | 202
1.1 [0.75| 0.55] 0.25
15| 1.1 |o75]|037| eos 12 | 50 | 165|130 |200| 12 [35| 197 |162|110| 55 | 125 | 1255 | 344
22| 15| 11055 eoL ? 12 | 50 | 165|130 200| 12 [ 35| 197 |162]|110| 55 | 125 | 1305 | 354

SHAFT EXTENSION BEARING

Al R EB EF EG G DRVEEND O T OSTE

SIZE DRIVE END

soM | 110] 40 [ m20x1.5 | 19| 40 | 32| 4 | 16 | & |15.5]|215| M6 | 62042z | 62032z

90s | 110| 40 | m20x1.5 | 24 | 50 [ 40 | 5 | 19| 8 | 20 | 27 | M8 | 62052z | 62042z

ooL | 110| 40 | m2ox15]| 24 | 50| 40| 5 | 19| & | 20 | 27 | me | 62052z | 620422
Note : 1. Tolerance of shaft end diameter D, j6.

LE

. AG
AS
|

FIG.3

4 B Outline (TEV3)
MR BERE

TECO

(IM3011)

ZERHIN: V1

Dimension in mm

Output (kW) FRAME FLANGE DIMENSION | =t e e
8P  SIZE E M N P 8
3 252 2 01'715 100 | 4 | 16| 60 | 215| 180| 250|145 4 | 219 |1785| 127 |63.5| 138 |1355| 301 | 120| 50
4| 42215 112m | 3 | 15| 60 [ 215|180 | 250|145 4 | 235] 191 127 | 63.5|1505| 145 |4125] 120| 50
?2 551 3 22| a5 16 | 80 | 265|230| 300|14.5| 4 |273|2085| 127 |63.5| 168 | 154 | 456 | 120| 50
Sl =]=]= 4
63.5| 168 | 173 | 494 | 120 50
SHAFT EXTENSION BEARING

FRAME EB EF EG DRVEEND FTOBITE
SIZE DRIVE END
100L | mzsx15| 28| 60| 50| 5 | 22| 8 | 24 | 31 [m10| 62082z | 62052z
112M | mM25x1.5| 28 | 60| 50| 5 | 22| 8 | 24 | 31 |m10| e306zz | 63052z
1328 | M25x15| 38 | 80| 70| 5 | 28 | 10 | 33 | 41 |m12| e308zz | 63062z
132M [ m2sx15| 38 [ eo| 70| 5 | 28| 10| 33 | 41 [m12| 63082z | 630622
Note : 1. Tolerance of shaft end diameter D : ¢ 28 : j6, ¢/ 38:k6 .

2. Tolerance of N : j6. 3. T-Box Assy with a cable grand body.

51



5NISE Outline (Teva) 4N B Outline (TEva) TECO

5’[‘%&5‘?%‘%RTJ'@ S VI (IM3011) 9|‘ﬁ375£§3”z%ﬁ7.|' AR V1 (IM3011)

FIG.7 FIG.8

AC

Dimension in mm

Output (kW) FRAME : FLANGE DIMENSION Output (kW) FRAME FIG. FLANGE DIMENSION
ar||eE SIZE : = ST S S 4P 6P SIZE NO. LA LE M N P s
1; 11175 545 160M 15 |1 110 300 | 250 | 350 (18.5) 5 | 350 | 234 | 166 | 83 | 192 | 213 | 608 | 160 | 60 — | 37 | -— |18.5] 2258C 20 | 140 400 | 350 )| 450 | 18.5| 5 | 450(3305|215| 1075 | 267 292 816
3 5
185| 15 | 11 | 75| 1e0L 15 | 110 300 | 250 | 350 [18.5] 5 | 350|234 | 166 | 83 | 192 235 [ 652 | 160 | 60 45 | — | — [ — | 225mMA | 7 | 20 | 110| 400|350 | 450 |18.5| 5 |450(3305|215| 107.5 |267| 304.5 811
22 |18.5] = | = 180M 15 | 110 | 300 | 250 | 350 | 18.5| 5 | 354 | 266 | 166 | 83 |218|241.5| 672 | 160 70 — | 45| 30 | 22 | 225MC 20 | 140 400|350 | 450 [18.5| 5 |450(3305|215| 107.5 |267| 3045 841
— |22 [ 15| 11 180L 6 | 15 [ 110|300 | 250 | 350 |18.5( 5 | 354 | 266 | 166 | 83 |218|260.5( 710 | 160 | 70 55 | — [ — | — | 250mA 22 | 140 500 | 450 | 550 [ 18.5| 5 | 550 (3725|249 1245 |[300| 3425 921
8
30 [52 15| 200 17 | 110 | 350 | 300 | 400 | 18.5| 5 | 400 |3045| 215 [107.5| 241 |285.5 770 | 199 | 80 — | 55| 37| 30| 250mc 22 | 140|500 | 450 | 550 [ 18.5| 5 |550|3725] 240 | 41245 |[300| 3425 921
SHAFT EXTENSION BEARING SHAFT EXTENSION BEARING
FRAME ERY FEES NE | IR N DRIVE END T OSTE SRR || EL ' Bl (S E SEH \ERN ES G GA DB prveenp OTPOSTTE
SIZE DRIVE END DRIVE END
160M M32x1.5 | 42 [110|100| 5 | 36 | 12 | 37 | 45 |m16| e6309zz | 63072z 2255C | 199 90 | M50X1.5 | 60 | 140|125( 75| 42 | 18 | 53 | 64 | M20
(631222C3) | (6212ZZC3)
160L M32X1.5 | 42 | 110[100| 5 | 36 [ 12 | 37 | 45 [M16| 6309zZ | 63072Z 225MA [ 199| 90 | M50x15 | 55 [ 110 100| 5 | 42 | 16 | 49 | 59 | M20
631322 | 621322
180M M32x1.5 | 48 [ 110|100 5 | 36 | 14 [42.5|51.5|M16( (631122C3) | (631022C3) 225MC [ 199| 90 | M50X1.5 | 60 [ 140|125| 7.5 | 42 | 18 | 53 | 64 | M20
180L M32X1.5 | 48 | 110|100| 5 | 36 | 14 |42.5|51.5|M16| 631122 6310ZZ 250MA | 224 | 105 M&3X1.5| 60 | 140 125| 75| 42 | 18 | 53 | 64 | M20| 6313-ZC3 | 6313-ZC3
p— msox1.5 | 55 | 110 100| 5 | 42 | 16 | a9 | 59 [M20| e3122203) | 62122203 250MC | 224|105| M&3x1.5| 65 [ 140|125| 75| 42 | 18 | 58 | 69 |M20| 6315-Z | 6313-Z

631227 6212ZZ Note : 1. Tolerance of shaft end diameter D : m6.
Note : 1. Tolerance of shaft end diameter D:a) .¢42~¢48 : k6 :b) .¢ 55 : m6. 2. Tolerance of N : j6.
2. Tolerance of N : j6. 3. Bearing No. In( ) is for 2P. 4. T-Box Assy with a cable grand body.
3. Bearing No . In( ) is for 2P. 4. T-Box Assy with a cable grand body.

52 53



5NIZE Outline (Teva) 4N B Outline (TEva) TECO

9]‘%&5&%)?7]'@ 2SR VI (IM3011) 9|‘ﬁ3&?cﬂz§ﬁﬂ' AR V1 (IM3011)

L Ll L L L L L L

o
O
e "X AD [ A AD
(U | -
pieb— ot it ; 8 ¢S HOLES 8-0S HOLES
-
~ —+ & ! =
-7 >
af 22 hil ole : % e
) ﬂ' & Q' i <| <
— = 1 L vy
P <
j L = | w N1
~ & “1"LLe
= L
<|m
= b
£l | '—":T &2 F
a2 E 1] | e e ‘J_' N
4 /‘%‘c Ll m_' i
[, (&) Q%U =] - o i =
=] BN | BT
P 2D | >08 Bl o NG
@ P
Dimension in mm Dimension in mm

Output (kW) FRAME FLANGE DIMENSION Output (kW) FRAME FLANGE DIMENSION

AC AD AG AS BE HE HH
4P 6P

5| == | o | = 280SA 22 | 140 | 500 | 450 | 550 | 18.5| 5 | 709 | 4085 | 249 [124.5| 335 | 238 | 1037.5 715 [436.5| 318

55 | 3158B | 25 | 170 | 600 | 550 | 660 [ 24 | 6 | 715 |456.5| 318 | 144 | 106 | 359 | 269 [ 1192 288 | 180

— | 75 | 45 | 37 280SB 22 | 140 | 500 | 450 | 550 | 185 5 | 709 | 408.5 | 249 |124.5| 335 | 238 1037.5

9 | — | — | — | 280mMA | 22 | 140 | 500 | 450 | 550 | 18.5| 5 | 709 | 408.5 | 249 [124.5| 335 | 238 | 1087.5 SHAFT EXTENSION BEARING

— | 90| 55| a5 | 280mB | 22 | 140| 500 | 450 | 550 [ 185| 5 | 709 | 4085 | 249 |124.5 335 | 238 | 10875 FRAME EB EF EG G GA DB Drveenp OPFOSITE

SHAFT EXTENSION BEARING SiE PRNEEND

OPPOSITE 3158A M6E3X1.5 65 140 | 125 | 7.5 | 40 18 | 58 | 69 | M20| 6316C3 7314B

Ef EG (€] GA DB DRIVE END

3155B Me3X1.5 80 170 | 160 | 5 40 | 22 | 71 | 85 | M20| 6320C3 6316C3

DRIVE END

280SA 224 | 140 | MB3X15 | 65 | 140 | 125 | 75| 40 | 18 | 58 | 69 | M20 6314C3 6314C3 ROl iEToieiahos of SnamiEnd Hiamoter-ly b

2. Tolerance of Key Width F. h9
280SB | 224 | 140 | M63X1.5 | 75 | 140 | 125 | 7.5 | 40 | 20 [ 675|795 M20 6318C3 6316C3

3. Tolerance of N:js6
280MA 224 | 140 | M6B3X1.5 65 | 140 | 125 | 7.5 | 40 18 58 69 M20 6314C3 6314C3

4.T-Box Assy with two cable grand bodys.
280MB 224 | 140 | MB3X1.5 75 | 140 | 125 | 7.5 | 40 20 | 67.5|79.5| M20 6318C3 6316C3

Note : 1. Tolerance of Shaft End Diameter D: m6
2. Tolerance of Key Width F. h9

3. Tolerance of N: |6

4. T-Box Assy with a cable grand body.

54 55



M2

SN K

23

LR~ E

Outline (TEv3)

SIS SIS ISP SIS IS SIS IS SIS IS

+

4

Output (kW)

FRAME

FLANGE DIMENSION

LE

M

N

=]

2#EHH: V1 (IM3011)

AC

AD
HE
o S
— 17, :
O [
< !
2 ¥ N
\ |
S :
S
J
F
r
O| 4

8-0S HOLES

Dimension in mm

4MEZE Outline (TEv3)

SR &3 R~ E

[ i A P P A

LL
BE

e

LE

TECO

=&AL V1 (IM3011)

AD

HE

AC
AG

AS

8-S HOLES

Dimension in mm

25

140 | 600 | 550 | 660

769

4815 | 318

144 | 106 | 384 | 269

1246

288

180

1

i
-
(5]
oV ]

25

24

| 769 | 4815 | 318 | 144| 106 | 384 | 269

1276

288

180

SHAFT EXTENSION BEARING
il EB EF EG F GA DB DRIVEEND OPPOSITE
SIZE DRIVE END
315MA | MB3X1.5 65 140|125 75| 40 | 18 | 58 | 69 |M20| 6316C3 7314B
315MB | MB3X1.5 80 170 | 160 | 5 | 40 | 22 | 71 | 85 |M20| 6320C3 6316C3
Note : 1. Tolerance of Shaft End Diameter D; m6

56

2. Tolerance of Key Width F. h9

3. Tolerance of N:js6

4.T-Box Assy with two cable grand bodys.

Output (KW) FLANGE DIMENSION
4p LE M N P
;gg —— - - 315LA | 25 | 140 | 600 | 550 | 660 | 24 6 769 | 481.5 | 318 | 144 | 106 | 384 | 269 | 1346| 288 | 180
160 [ 110 | 90
— 315LB | 25 | 170 | 600 | 550 | 660 | 24 6 | 769 | 4815 | 318 | 144 | 106 | 384 | 269 | 1376| 288 | 180
200 | 132 | 110
SHAFT EXTENSION BEARING
FRAME EB DRIVE END OPPOSITE
SIZE DRIVE END
315LA MB3X1.5 65 140 1 125 | 7.5 | 40 18 58 69 | M20 6316C3 7314B
315LB ME3X1.5 80 170 | 160 [ 5 40 | 22 | 71 85 | M20 6320C3 6316C3
Note : 1. Tolerance of Shaft End Diameter D. m6
2. Tolerance of Key Width F: h9
3. Tolerance of N : js6
4. T-Box Assy with two cable grand bodys.
57



5MEZE Outline (Teva) SMEZE Outline (TEvs) TECO

5’[‘%&?&%Rﬂ' wEAR: V1 (M 3011) 9|‘ﬁ3&?cﬂz§ﬁﬂ' AR V1 (IM3011)

AC

AC
AG
1
I
|
|

=y

—_1

Dimension in mm Dimension in mm

Output (kW) FRAME FLANGE DIMENSION

Qutput (kW) FRAME FLANGE DIMENSION

AC AD AG AS
LE M N P

250 | - - --- | 355MA | 30 | 140 | 740 | 680 | 800 | 24 6 | 896 | 573 | 408 | 184 | 130 | 469 | 297 | 1687 | 372 | 230 315 | - - — | 355LA | 30 | 140 | 740 | 680 | 800 | 24 6 896 | 573 | 408 | 184 | 130 | 469 | 297 | 1687| 372 | 230
- | 250 ;gg :Zg 355MB | 30 | 170 | 740 | 680 | 800 | 24 6 | 896 | 573 | 408 | 184 | 130 | 469 | 297 | 1717| 372 | 230 --- | 315 250 | 200 | 355LB | 30 | 170 | 740 | 680 | 800 | 24 6 896 | 573 | 408 | 184 | 130 | 469 | 297 | 1717| 372 | 230
BEARING SHAFT EXTENSION BEARING
FRAME GA DB DRveenp OFTOSITE FRANE EF EG F DB oprveenp OPPOSITE
SIZE DRIVE END SIZE DRIVE END
355MA M72X2 75 140 | 125 | 75| 40 | 20 | 67.5]|79.5| M20| 6317C3 7317B 355LA M72X2 75 140|125 75| 40 | 20 |67.5| 79.5 | M20 | 6317C3 7317B
355MB M72X2 95 170 | 160 5 43 | 25 | 86 | 100 | M24 | 6322C3 7322B 355LB M72X2 95 170 | 160 | 5 48 | 25 | 86 | 100 | M24 | 6322C3 7322B
Note : 1. Tolerance of Shaft End Diameter D. m6 Note : 1. Tolerance of Shaft End Diameter D. m6
2. Tolerance of Key Width F: h9 2. Tolerance of Key Width F. h9
3. Tolerance of N: js6 3. Tolerance of N : js6
4.T-Box Assy with two cable grand bodys. 4.T-Box Assy with two cable grand bodys.

58 59



4P E Outline (TEva)

AME R T R~ L5 B3 (IM1001)

Dimension in mm

Output (kW)  FRAME

6P SIZE

0.75| — | -

11 lo7s| — | 8om 1 |125(345|161|177| 152 |110| 55 | 100 — | 163|185| 50 | 80 | 10 115
1.5] 1.1 [0.75| 90s 140| 40 |180|197| 162 |110| 55 |100| — |226| 36 | 56 [ 90 | 10 125
221511 9oL 140| 40 [180|197| 162 [110| 55 [125]|100|226| 36 [ 56 | 90 | 10 125
3 [22]15 2

~| 3| | 100L 160 | 40 |200|219| 1835 |127(63.5|140| — |261| 21 | 63 [100| 12 143
4 | 4 |22 112m 190 | 45 [235|235| 191 |[127|63.5(140| — [237| 28 [ 70 | 112| 13 150.5

SHAFT EXTENSION BEARING

BEY FEEA BRSH S G GA DB DRIVEEND SEEGSEE

DRIVE END

80M 10 319 110| 40 | M20X1.5| 19 | 40 | 32 | 4 |16 | 6 |155|21.5| M6 | 6204ZZ 620422

908 10 408.5 110| 40 | M20X1.5 | 24 [ 50 | 40 | 5 | 19 8 | 20 | 27 | M8 | 6205ZZ 620522

90L 10 409.5 110| 40 | M20X1.5 | 24 [ 50 | 40 | 5 | 19 8 | 20 | 27 | M8 | B205ZZ 620522

100L 12 472 120| 50 | M26X15( 28 | 60O | 50 | 5 | 22 8 | 24 | 31 |[M10| 620622 620672

112M 12 464 120| 50 | M25X1.5| 28 | 60 | 50 [ S5 | 22 8 | 24 | 31 |M10| 6306ZZ 630622

Note : 1. Tolerance of shaft end diameter D : j6. 3. T-Box Assy with a cable grand body.

2. Tolerance of shaft center high H: +0, -0.5.

60

4MESE Outline (Teva)

TECO

Ql‘ﬁéﬁﬁ%ﬁﬂ'@ 235 B3 (IM1001)

Output (kW) ~ FRAME FIG. ,

2P

DB

Dimension in mm

1328 216| 57 | 263|273 | 2085 | 127 |63.5|140| - |275| 6 | 89| 132 | 16 | 168 12 | 547

75| = | —
3

— |75 4

132M 216 57 | 263| 273| 2085 | 127 |63.5|178|140|275( 6 | 89| 132 | 16 | 168| 12 | 547

SHAFT EXTENSION BEARING

FRAME EF EG GA DB DRIVE END QESQSTE
SIZE DRIVE END
1328 | 120| 50 | M25x15| 38 | 8o | 70| 5 | 28 10 | 33 | 41 |M12| 63082z | 630622
132M | 120 50 | M25x15 | 38 | 80 [ 70 | 5 | 28 10 | 33 | 41 |M12| 63082z | 630622

Note : 1. Tolerance of shaft end diameter D : k6.
2. Tolerance of shaft center high H : +0, -0.5.
3. T-Box Assy with a cable grand body.

61



5N Outline (TEva) 52 & Outline (Teva) TECO

ﬁl‘ﬁéﬁf%ﬁﬂ' 25 B3 (IM 1001) Ql‘ﬁéﬁﬁ%ﬁﬂ'@ AR B3 (IM1001)

Q
L1, B
BC ~ B
- . — _— E EB
L I 1ea BA 2 = ’
| B [
—
— s B s
Dimension in mm Dimension in mm
Output (kW) FRAME FIG. Output (kW) FRAME FIG
2P 4P 2P 4P 6P SIZE NO
30 18.5
a7 30 29 200L 318 | 75 | 388 | 448 | 332 | 215 | 1075 | 305 | — | 76 | 76 | 365 | 52 | 133 |200| 24 | 271.5 18.5
15 | — | -- 160M 4 | 254| 60 | 300|317 | 2435 166 83 | 210| - |57.5|101.5] 300 47 108|160| 18 | 195(14.5
— | 37 —_— 2258C 6 |356| 75 | 431 | 498 [351.5] 215 | 1075 | 286 | — | 90 | 90 | 350 [ 37.5| 149 [ 225 28 | 289.5 18.5
18.5] 15| 11 160L 254 | 60 | 300 | 317 | 243.5 166 83 | 254 | 210 |57.5|101.5| 300 47 108 160| 18 | 195(14.5
45 | - — 225MA 356 | 75 | 431 | 498 |351.5]| 215 | 107.5 | 311 | 286 90 | 115 | 375 | 37.5| 149 | 225| 28 | 2895 18.5
22 1185] — 180M 279 | 65 | 330 | 354 | 269.5 166 83 | 241| - | 62 | 100 330 39 121180 20 | 221 14.5
5 — |45 | 30 225MC 356 | 75 | 431 | 498 |351.5]| 215 | 107.5 | 311 | 286 90 | 115 | 375 | 37.5| 149 | 225| 28 | 2895 18.5
— 1 22| 15 180L 279 65 | 330 | 354 | 269.5 166 83 | 279|241| 62 | 100 330 39 121180 | 20 | 221(14.5
55 | - - 250MA 406 | 85 | 480 | 527.5 |403.5] 249 | 1245 | 349 | — | 120 120 | 425 | 63.5| 168 | 250 | 30 328 24
SHAFT EXTENSION BEARING 7
- | 55| 37 250MC 406 | 85 | 480 | 527.5 |403.5] 249 | 1245 | 349 | —— | 120| 120 | 425 | 63.5| 168 | 250 | 30 328 24
CRaHE: EF  EG G GA DB DRIVEEND OFFOSITE EXTENSION BEARING
DRIVE END f - e
FRAME J C . - £ EG - . DRIVE END OPPOSITE
SIZE DRIVE END
652 160| 60 | M32X1.5| 42 | 110 100 ) 36 12 | 37 | 45 |M16 6309ZZ 630722
160L
200L 764.5)| 199 | 80 | M50X.15 | 55 | 110 | 100 5 42 16 49 | 59 |M20 {931RZZCo)| (621222C3)
180M (6311ZZC3) | (6310Z2ZC3) 6312272 621222
710|160 70 | M32X1.5 | 48 | 110| 100 5 36 14 |42.5|51.5|M16
180L 631122 6310ZZ 2258C 816 | 199 | 90 | M50X1.5 | 60 [140| 125 | 7.5 | 42 18 53 | 64 |M20
(631222C3)|(6212Z2C3)
Note : 1. Tolerance of shaft end diameter D : k6. 225MA 811 | 199 | 90 | M50X1.5 | 55 | 110| 100 5 42 16 49 | 59 |M20
631322 621322
2. Tolerance of shaft center high H : +0, -0.5. 225MC 841 | 199 90 | M50X1.5 | 60 | 140| 125 | 7.5 | 42 18 53 | 64 |M20
3. Bearing No. In( ) is for 2P 250MA  |977.5| 224 | 105 | MB3X1.5 | 60 | 140] 125 | 7.5 | 42 18 53 | 64 |[M20| 6313C3 6313C3
4. T-Box Assy with a cable grand body. 250MC |977.5]| 224 | 105 | ME63X1.5 | 65 | 140| 125 | 7.5 | 42 18 58 | 69 | M20 6315 6313

Note : 1. Tolerance of shaft end diameter D : m6.
2. Tolerance of shaft center high H: +0, -0.5.

3. Bearing No. In( ) is for 2P.
4. T-Box Assy with a cable grand body.

62 63



5N Outline (TEva) 52 & Outline (Teva) TECO

ﬁl‘ﬁéﬁf%ﬁﬂ' 25 B3 (IM 1001) Ql‘ﬁéﬁﬁ%ﬁﬂ'@ AR B3 (IM1001)

L,
Fi

[
] o
?— l-l
— gy ,
= | mar 4-$K HOLES
Dimension in mm Dimension in mm
Output (kW) Output (kW) FRAME
2P 5 2P
75 | — | — | 280sA | 457 | 110 | 560 | 550 | 417 | 249 |1245| 368 | 110 | 110 | 445 | 48 | 190 | 280 | 35 | 348 | 24 110 | - | = 3158A | 508 | 115 | 615 | 620 | 491.5 | 318 | 144 | 406 | 210 | 210 | 620 | 53 | 106 | 216 | 315 | 35 | 394
— | 75 | 45 | 280SB| 457 | 110 | 560 | 550 | 417 | 249 |1245| 368 | 110 | 110 | 445 | 48 | 190 | 280 | 35 | 348 | 24 - | 110 | 75 3158B | 508 | 115 | 615 | 620 | 491.5 | 318 | 144 | 406 | 210 [ 210 | 620 | 53 | 106 | 216 | 315 | 35 | 394
90 = — | 280MmA| 457 | 110 | 560 | 550 | 417 | 249 |1245| 419 | 130 | 137 | 495 | 48 | 190 | 280 | 35 | 348 | 24 132 | — -— 315MA 508 | 115 | 615 | 620 | 4915 | 318 | 144 | 457 | 240 | 240 | 670 | 53 | 106 | 216 | 315 | 35 | 394
. 90 | 55 |280MmB| 457 | 110 | 560 | 550 | 417 | 249 [124.5| 419 | 130 | 137 | 495 | 48 | 190 | 280 | 35 | 348 | 24 - | 132 | 90 315MB 508 | 115 | 615 | 620 | 491.5 | 318 | 144 | 457 | 240 | 240 | 670 | 53 | 106 | 216 | 315 | 35 | 394
SHAFT EXTENSION BEARING SHAFTEXTENSION BEARING
EB EF EG DRIVE END OPPOSITE b NG EB EF EG F ERVEERD, DEERRGE
T SIZE DRIVE END
280SA 1037 5 224 | 140 | meax15 | 65 | 140 | 125 | 75 | 40 18 58 | 60 | m2ol 63163 6314C3 315SA 28 |1216| 288 | 180 | M63X1.5 | 65 140 | 125 | 7.5 | 40 18 | 58 | 69 | M20| 6316C3 6314C3
280SB 1037 5 24 | 140 | meax1s 75 | 140 | 125 | 75| 40 | 20 [675] 795 | m2o| &318c3 6316C3 3158B 28 |1246| 288 | 180 | M63X1.5 | 80 170 | 160 | 5 40 | 22 | 1 85 | M20| 6320C3 6316C3
315MA 28 |1266| 288 | 180 | MB3X1.5 65 140 125 | 7.5 40 18 58 69 | M20| 6316C3 6314C3
280MA 1087.5 224 | 140 | MB3X1.5 | 65 | 140 | 125 75| 40 18 | 58 | 69 | M20| 6316C3 6314C3
315MB 28 |1296| 288 | 180 | ME3X1.5 | 80 170 | 160 | 5 40 | 22 | ™ 85 | M20| 6320C3 6316C3
280MB 1087.5 224 | 140 | MB3X1.5 75 | 140 | 125 | 75 | 40 | 20 |67.5| 79.5| M20| 6318C3 6316C3

Note : 1. Tolerance of Shaft End Diameter D: m6
Note : 1. Tolerance of Shaft End Diameter D;: mé6

2. Tolerance of Shaft Center Height H. +0, -1
2. Tolerance of Shaft Center Height H. +0, -1

3. Tolerance of Key Width F: h9
3. Tolerance of Key Width F: h9

4 T-Box Assy with two cable grand bodies.
4. T-Box Assy with a cable grand body.

64 65



A2 E Outline (Teva)
MR RHE

&EAHH: B3 (IM1001)

Output (kW)

\4-9K HOLES

Dimension in mm

42 B Outline (TEva)
M RRERE

TECO

=Z#FH: B3 (IM1001)

AC L o
AG Ly
AS BE

AD

9
DA
HE

b

td~fHH HOLES

A

Dimension in mm

Output (kW)

A AA AB AC AD AG AS
2P 4P 6P
;gg — | — | 315LA | 508 | 150 | 650 | 682 | 578 | 408 | 184 | 508 | 335 | 335 | 870 | 68 | 130 | 216 | 315 | 45 | 474
| 160 | 110 315LB 508 | 150 | 650 | 682 | 578 | 408 | 184 | 508 | 335 | 335 | 870 | 68 | 130 | 216 | 315 | 45 | 474
200 | 132
SHAFT EXTENSION BEARING
FRAME EB EF EG F G OA Dg PRIVEEND OPPOSITE
DRIVE END
315LA | 28 [1484| 372 | 200 | M63X1.5 | 65 [ 140125 75| 40 | 18 | 58 | 69 |M20| 6316C3 | 6314C3
315LB 28 | 1514 372 | 200 | M63X15 | 80 | 170|160 | 5 40 [ 22 | T 85 | M20 | 6320C3 6316C3

Note : 1. Tolerance of Shaft End Diameter D. m6

]
-

2. Tolerance of Shaft Center Height H: +0,
3. Tolerance of Key Width F. h9

4 T-Box Assy with two cable grand bodies.

66

250 | -~ | - 355MA | 610 | 150 | 750 | 810 | 633 | 408 | 184 560 330 | 330 | 860 | 48

-—— | 250 355MB 610 | 150 | 750 | 810 | 633 | 408 | 184 560 330 | 330 | 860 | 48

SHAFT EXTENSION BEARING

FRAME DRIVE END OPPOSITE

Bk =G E G DB

SIZE DRIVE END

355MA 529 | 28 [1525]| 372 | 230 M72X2 75 | 1401 125 7.5 | 40 | 20 | 67.5|79.5| M20| 6317C3 6317C3
355MB | 529 | 2B |1555| 372 | 230 | M72X2 95 | 170| 160 | 5 48 | 25 | 86 | 100 | M24 | 6322C3 6322C3
Note : 1. Tolerance of Shaft End Diameter D: m6
2. Tolerance of Shaft Center Height H: +0, -1
3. Tolerance of Key Width F. h9
4. T-Box Assy with two cable grand bodies.
67



4 & Outline (TEva4)

MK &3 R~ E

Qutput (kW)

6P

FRAME

SIZE

&EAHH: B3 (IM1001)

42 B Outline (TEva)
M RRERE

TECO

REAHH: B5 (IM3001)

Dimension in mm

Output (kW) FRAME FIG. FLANGE DIMENSION

2P | 4P 6P § : EE:| i N P S T
0.75| — | —
80M 1 12 | 40 | 165 130|200 12 | 3.5 177 152 110| 55 115 68.5 319
1.1]10.75] --
1.5 [l eds 90s 12 | 50 [ 165| 130|200 12 | 3.5 271 162] 110| 55 125 92 409.5
2
22 | 15| 11 90L 12 | 50 | 165 130|200 12 | 3.5 271 162 110| 55 125 92 409.5

35| - - 355LA 610 | 150 | 750 | 810 | 633 | 408 | 184 630 330 | 330 | 910 | 48 | 130 | 254 | 355 | 45
- | 315 | 250 355LB 610 | 150 | 750 | 810 | 633 | 408 | 184 630 330 | 330 | 910 | 48 | 130 | 254 | 355 | 45
SHAFT EXTENSION BEARING
FRAME HE K EF  EG GA DB DRIVE END OPPOSITE
SIZE DRIVE END

355MA 529 | 28 | 1575 372 | 230 M72X2 75 1140|125 | 7.5 | 40 20 | 675|795 M20| 6317C3 6317C3
355MB 529 | 28 |1605| 372 | 230 M72X2 95 | 170 | 160.| 5 48 | 25 | 86 | 100 | M24 | 6322C3 6322C3
Note : 1. Tolerance of Shaft End Diameter D: m6

2. Tolerance of Shaft Center Height H: +0, -1

3. Tolerance of Key Width F. h9

4.T-Box Assy with two cable grand bodies.

68

EXTENSION BEARING

EG F G GA DRIVE END OPPOSITE

DRIVE END

80M 110 40 | M20X1.5| 19 | 40 | 32| 4 | 16 | 6 [155]|21.5| M6 | 6204ZZ | 6204ZZ

908 110| 40 | M20X1.5| 24 | 50 | 40 | 5 | 19| 8 | 20 | 27 | M8 | 6205ZZ | 6205ZZ

90L 110 40 | M20X1.5| 24 | 50 | 40| 5 | 19| 8 | 20 | 27 | M8 | 6205ZZ | 6205ZZ

Note : 1. Tolerance of shaft end diameter D. j6.
2. Tolerance of N : 6.
3. T-Box Assy with a cable grand body.

69



5N Outline (TEva) 52 & Outline (Teva) TECO

ﬁl‘ﬁéﬁf%ﬁﬂ' 25 B5 (IM3001) Ql‘ﬁéﬁﬁ%ﬁﬂ'@ w3AR: B5 (IM3001)

AD

FIG 5

FIG. 6

Dimension in mm
Qutput (kW) FRAME FIG. FLANGE DIMENSION Qutput (kW) FRAME FIG. FLANGE DIMENSION

2B || 4P BP SIZE NO. | LA (FLE M N P S i) 2P 4P 6P SIZE NO. LA LE M N £ S

¥ 1 11| 7.5 160M 15 [ 110 | 300 | 250 | 350 | 18.5| 5 | 427 |243.5| 166 83 195|155 | 652 | 160 | 60
| s | | 100L 4 |16 [ 60 [215[ 180|250 [14.5| 4 [288.5( 183.5| 127 | 63.5 | 143 | 84 | 472|120 | 50 15 5
18.5| 15 | 11 160L 15 | 110 | 300 | 250 | 350 [18.5| 5 | 427 |243.5| 166 83 195|155 | 652 | 160 | 60
4 4 22 112M 3 15 | 60 | 215 180|250 (14.5| 4 |306.5| 191 127 | 3.5 [150.5| 98 | 464 | 120 | 50
s|les g 22 |18.5] - 180M 15 | 110 | 300 | 250 | 350 | 18.5| 5 | 476 |269.5| 166 83 221|160 | 710 | 160 | 70
. 6
75| o 1328 " 16 | 80 | 265|230 | 3001145 4 360 | 2085 127 | 635|168 | 95 | 547 | 120]| 50 weo |22 | 45 180L 15 | 110|300 | 250 |1 350 | 185| 5 | 476 |269.5| 166 83 2211160 | 710 | 160 | 70
= |75] 4| 132m 16 | 80 | 265|230|300|14.5| 4 | 360 | 2085 | 127 | 635 | 168| 95 | 547 | 120| 50 Sl s BEIRS
LB D E EB EF EG F G GA DB DRWVEEND OFTOSITE
SHAFT EXTENSION BEARING DRIVE END
D E EB | (EF CEG F G GA DB DRIVE END SEPOSITE 160M M32X1.5| 42 | 110 | 100| 5 36 | 12 | 37 | 45 |M16| 6309ZZ 6307ZZ
RRIME: BIN0 160L M32X15 | 42 |110|100| 5 | 36 | 12 | 37 | 45 |M16| 6309ZZ 6307ZZ
100L M25X15 | 28 | 60 | 50 5 22 8 24 | 31 |M10 6206272 620622
180M M32X1.5| 48 |110|100| 5 36 | 14 |42.5|51.5|M16| (63112ZC3) | (6310ZZC3)
1 5X15| 28 | 60| 50| 5 | 22| 8 | 24 | 31 [M10 6306 3
T MRk o oo 180L M32X1.5| 48 | 110 | 100| 5 36 | 14 |425|51.5|M16| 6311Z2Z 6310Z2Z
1328 M25X1.5| 38 | 80 | 70 ) 28 | 10| 33 | 41 |M12 6308ZZ 630622 .
Note : 1. Tolerance of shaft end diameter D : k6.
132M M25X1.5| 38 | 80 | 70| 5 | 28| 10| 33 | 41 |[M12 6308ZZ 630622 y
2. Tolerance of N : j6

Note : 1. Tolerance of shaft end diameter D: (28 : |6, () 38:k6 . - -
3. Bearing No. In( ) is for 2P.

2. Tolerance of N : j6. )
4. T-Box Assy with a cable grand body.

3. T-Box Assy with a cable grand body.

70 71



A2 E Outline (Teva)
MR RHE

4—3¢8 HOLES
o m e

=&REAHH: B5 (IM3001)

&—¢#S HOLES

EF]

Output (kW) FRAME FLANGE DIMENSION

2P 4P 6P SIZE

Dimension in mm

30 18.5

SHAFT EXTENSION

FRAME

EE LEC BRE G

SIZE

a7 30 22 200L 7 17 | 110| 350|300 400| 185 | 5 |576.5| 332 215 107.5 2715 185 764.5
- | 37 | — | 225SsC 20 | 140 400| 350|450 | 185 | 5 | 652 | 351.5 | 215 107.5 289.5 186.5 816
45 | — | — | 225MA 8 | 20 1110|400 350|450 185 | 5 | €52 | 351.5 | 215 107.5 289.5 186.5 811
- | 45 | 30 | 225MC 20 | 140|400 350|450 185 | 5 | 652 | 351.5 | 215 107.5 289.5 186.5 841

BEARING
DRIVE END OPPQSITE

DRIVE END

(6312zzc3) | (621222C3)

200L 199 | 80 | M50X1.5| 55 | 110 100| 5 | 42 16 49 59 M20
631222 6212ZZ
2255C [ 199| 90 | M50X1.5 | 60 | 1401 125| 75| 42| 18 | 53 | 64 M20
(6312zzC3) | (62122ZC3)
225MA | 199 | 90 | M50X1.5| 55 | 110 100| 5 | 42 16 49 59 M20
631322 621322
225MC | 199 | 90 | M50X1.5 | 60 | 140|125]| 7.5 | 42 18 53 64 M20

Note: 1. Tolerance of shaft end diameter D. m6.
2. Tolerance of N: j6.
3. Bearing No. In( ) is for 2P.

4. T-Box Assy with a cable grand body.

72

|57

SR ZAE R E

£

Outline (TEV4)

TECO

REAHH: B5 (IM3001)

Output (kW)

&G LE LL UB
AS |
. a1
Vi d I 3\
GO :
EF]. EB ' -
| ;i T
- R L ee=— - | -
| lec —
E 3
a4
| I
LA 1
8—¢S Holes HH |
FIG.9

Dimension in mm

FRAME FIG.

250MA 22 | 140 | 500 | 450 | 550 {18.5| & | 738 | 403.5 | 249 124.5 328 231.5 977.5

250MC 22 | 140|500 | 450 | 550 | 18.5| 5 | 738 | 403.5 | 249 124.5 328 231.5 977.5

SHAFT EXTENSION BEARING

OPPOSITE

E= REBI LEE BMEG B F (€]

DRIVE END
DRIVE END

250MA | 224|105 | MB3X1.5 | 60 | 140|125 75| 42 | 18 | 53 | 64 M20 6313C3 6313C3
250MC | 224 | 105 | MB3X1.5| 65 | 140 125| 7.5 | 42 | 18 | 58 | 69 M20 6315 6313
Note: 1. Tolerance of shaft end diameter D: m6.

2. Tolerance of N: j6.

3. T-Box Assy with a cable grand body.

73



42 E Outline (TEva)
MG RRERTE

42 B Outline (TEva)
M RRERE

TECO

=&REAHH: B5 (IM3001) =i#£HH: B5 (IM3001)

Ls 0 AC L =)
(#] "
LE L EE
T [} |
[ = 1 ] -
| + R
= |
& “ ] J ' o=
4 i =
& \ 2 5 =7 7 \
By L4 1 - T‘m g § A E
EF EB 1 EF| EB I
||| ;)= e = =X = z| . S cemnbeseadle
slel BT == e .
i Ea 1__.._4 : , E—ig (]
: |LI=—= | . 0
=1 i i\ = F o W
T - i -ﬁ;*v-‘- M ] 11 'S (N
Qﬂk‘ J i o 7. z ] L
Kl % |
LA *
8~¢S HOLES H H eal |
F HH
il
)
@ (=]
@D DB

Dimension in mm

Dimension in mm

Output (kW) FRAME FLANGE DIMENSION Output (kW) FRAME
4P SIZE LE M N P P
T8 | oo | e || DoGRA || 3% | 546 205 | 420 | Eea |58 5| & || 5% | av2 [-528 \6a.5| 5da | 35a] savve 110| — | — | 315sA | 25 | 140 | 600 | 550 | 660 | 24 | & | 660 | 491.5 | 318 | 144 | 106 | 394 | 269 |1216] 288 | 180
— | 110| 75 | 31588 | 25 | 170 | 600 | 550 [ 660 | 24 | 6 | e60 | 4915 | 318 | 144 | 106 | 394 | 269 | 1246 288 | 180
— | 75| 45| 280sB | 22 | 140 | 500| 450 | 550 | 185 5 | 717 | 417 | 249 [124.5| 348 | 238 | 10375
132 — — 315MA 25 140 | 600 | 550 | 660 24 6 660 | 4915 | 318 | 144 | 106 | 394 | 269 | 1266| 288 | 180
90 | — | — | 280MA | 22 | 140 | 500 | 450 | 550 | 185| 5 | 717 | 417 | 249 [124.5| 348 | 238 | 10875
— 132 90| 315MB | 25 | 170 | 600 | 550 | 660 | 24 | & | 660 | 491.5 | 318 | 144 | 106 | 394 | 269 |1296| 288 | 180
— | 90| 55| 28omB | 22 | 140 | 500 | 450 | 550 | 185| 5 | 717 | 417 | 249 |124.5| 348 | 238 | 1087.5 ETe—— T

SHAFT EXTENSION BEARING

FRAME EB EF e E DRIVE END OPPOSITE
FRAME EB EF EG DRIVE END OPPOSITE SIZE DRIVE END
SIZE DRIVE END 3155A | m63x15 | 65 | 140 | 125 | 75| 40 | 18 | 58 | 69 [ M20| 6316C3 6314C3
280SA | 224 | 140 | M63x15 | 65 | 140 | 125| 75| 40 | 18 | 58 | 69 | M20| 6316C3 6314C3 315S8B | Mé3X1.5 | 80 [ 170 | 160 | 5 [ 40 | 22 71 | 85 | M20| 6320C3 6316C3
280SB | 224 | 140 | me3x15 | 75 [ 140| 125| 75| 40 | 20 | 67.5|79.5| m20| e318c3 | e316C3 | MO | 69 |40 [ 129 ] 75| 40 | 15 | 9 | 69 pMR0Y (ER1R0% | aMER

315MB | M63x15 | 80 | 170 | 160 | 5 | 40 | 22 | 71 | 85 | m20| 6320C3 6316C3
280MA | 224 | 140 | M63x15 | 65 | 140 | 125| 75| 40 | 18 | 58 | 69 | M20| 6316C3 6314C3

Note : 1. Tolerance of Shaft End Diameter D: m6
280MB | 224 | 140 | M63X15 | 75 | 140 | 125| 75| 40 | 20 |67.5(79.5| M20| 6318C3 6316C3

2. Tolerance of Key Width F. h9

Note : 1. Tolerance of Shaft End Diameter D. m6

3. Tolerance of N:js6

2. Tolerance of Key Width F. h9 4. T-Box Assy with two cable grand bodies.

3. Tolerance of N:j6
4. T-Box Assy with a cable grand body.

74 Ffi



4B Outline (TEva)
SN R RHE

42 E Outline (TEva)
MG RRERTE

TECO

2 B35 (IM2001) Z#EHA: B35 (IM2001)

[#]

[=) ! =3
4 18 P e &3 -4
f r i (—
Tlell =& |
A . FiG. 4
°| A © FIG. 3
“\ DB
D
: g2 5 Dimension in mm
Dimension in mm
Output (kW) FRAME FIG FLANGE DIMENSION Qutput (KW) FRAME FIG. FLANGE DIMENSION
2P 4P &P SZE NO. LA/LE M N P 3 14 2P 4P SIZE ) LE M N P s
0.75] = | ==
80M 1 | 12| 40 [165]|130|200| 12 | 3.5 | 125| 34.5 | 161|177 152 110 | 55 | 100| - | 163| 18.5| 50 | 80 100L 4 | 16| 601215|180l250!| 145 | 4 |160!| 40 | 2001219l 1835 |127| 635 | 140! - | 261| 21 | &3
1.1 1075 - . : ,
|| | 111 [
1.5 1.1 1075 90S 12 | 50 |165[130(200| 12 | 3.5 | 140 40 |180(197 162 110 | 55 | 100| - | 226 36 | 56 | 90
2 4 |1 4|22 112M 3 | 15|60 [215|180|250| 145 | 4 [190] 45 | 235|235 191 127 63.5 | 140| - | 237| 28 | 70
22115 | 11 90L 12| 50 |165(130(200| 12 | 3.5 | 140| 40 |180]|197 162 110 | 55 |125|100|226| 36 | 56 | 90 s5|55] 3
SHAFT EXTENSION BEARING gl |l 1328 ” 16 | 80 | 265|230|300| 145 | 4 |216| 57 |263|273| 208.5 |127)| 63.5|140| --- |275]| 6 | 89
FRAME e OPPOSITE S
EB EF EG F G GA DB DRIVE END 75| 4 132M 16 | 80 |[265(230|300| 145 | 4 |216| 57 |263|273| 208.5 |127]| 63.5|178|140|275| 6 | 89
DRIVE END

goM | 10| 115 [10]| 319 |110| 40 |M20x1.5| 19 [40| 32 | 4 | 16| 6 |155|21.5|m6| 620422 620422 SHAFT EXTENSION BEARING
90s | 10| 125 |10| 4095 [110| 40 [M20x1.5| 24 | 50| 40 | 5 | 19| 8 | 20 | 27 |m8| 62052z 620522 ol I DRIVEEND  OPPOSITE
eoL | 10| 125 | 10| 4095 [110| 40 [mM20x15| 24 50| 40 | 5 [19| 8 | 20 | 27 | M8| 620522 620522 DRIVE END
Note : 1. Tolerance of shaft end diameter D. j6. 100L |100) 12 | 143 | 12 |472|120| 50 |M25X1.5| 28 |60 50| 5 | 22| 8 | 24 | 31 |Mi0 6206272 6206ZZ
2. Tolerance of shaft center high H : +0,-0.5. 112M |112| 13 |150.5| 12 [464|120| 50 [M25x1.5| 28 [60| 50| 5 [ 22| 8 | 24 | 31 |[m0| 63062z 630622
3. Tolerance of N : j6. 1328 [132| 16 | 168 | 12 | 547|120 50 |M25x1.5| 38 | 80| 70| 5 | 28| 10 33| 41 |m2|  e308zz 630627
4. T-Box Assy with a cable grand body. 132M |132] 16 | 168 | 12 |547[120| 50 [M25x1.5| 38 | 80| 70| 5 | 28| 10| 33 | 41 |m12| 63082z 630622
Note : 1. Tolerance of shaft end diameter D: (28 :j6, ¢ 38:k6 .
2. Tolerance of shaft center high H: +0, -0.5.
3. Tolerance of N : j6.
4. T-Box Assy with a cable grand body.
76 77




5N Outline (TEva) 52 & Outline (Teva) TECO

ﬁl‘ﬁéﬁf%ﬁﬂ' 2SR B35 (IM2001) Ql‘ﬁéﬁﬁ%ﬁﬂ'@ A B35 (IM2001)

e ASAC sds =3
—i oles e /EB_
| 1. T ]
4 EB
b= i T | Il U
i <
| EG
z 4 &
T
LA i
: .
Dimension in mm Dimension in mm
Qutput (kW) FRAME FIG FLANGE DIMENSION AB AC FRAME 3, FLANGE DIMENSION BA BA' BB BC
2P 4P 6P SIZE NO. LA LE M N P SIZE
:; 11 T35 160M 15| 110 | 3001 250]350] 18.5 5 |254) 60 |300|317| 243.5 | 166 83 210| = | 575 1015 300 gg 30 128é5 200L T 17 110 350|300|400| 185| 5 |318| 75| 388|448 332 |215| 1075 |305| — | 76 | 76 | 365| 52
5
185 15 | 11| 1e0L 15 | 110 |300|250(350| 18.5 | 5 |254| 60 |300|317| 2435 | 168| 83  |254|210| 575| 1015 |aoo = | 2z | = [ 22556 20 | 140 |400|350|450| 1855| 5 [356| 75 [431|498]| 351.5|215| 1075 |286| — | 90 | 90 |350( 37.5
22 |185| — | 180m 15| 110 |300{250|350| 185 | 5 |279| 65 [330|354| 2695 [166] 83  |241| —| 62 100|330 45 | — | — | 2zsmA | 8 20 | 110 |400|350(450| 185| 5 |356| 75 [431|498|351.5 |215| 1075 |311[286| 0 | 115|375)| 37.5
8
— | 22| 15| 1s0L 15 | 110 | 300{250|350| 18.5 | 5 |279| 65 [330|354| 2695 [168]| 83  |279|241| 62 100 |a30 — | 45 | 30 | 225MC 20 | 140 |400|350|450| 18.5| 5 |356| 75 |431|498)| 351.5|215| 1075 [311|286| 90 | 115|375 375
SHAFT EXTENSION BEARING SHAFT EXTENSION BEARING
FRAMES 55 & ; : 2 s EB EF EG G GA prveenp OPPOSITE ' EB EF EG G a DRIVEEND ~ OPPOSITE
SIZE DRIVE END DRIVE END
160M | -47 | 108]160| 151193 14.5 | 652)160| 60 | M32X1.5 |42 |1101100| 5 | 36 | 12| 37 | 45 |Mi6| 630927 | 6307ZZ 2000 | 133|200| 24 | 271.5 | 18.5 | 764.5 | 199| 80 | M50x1.5 | 55 |110]{100| 5 | 42| 16 | 49 | 59 |m20| (63122zC3) | (62122ZC3)
160L | 47 [108]|160] 18 | 195| 14.5 |652]| 160| 60 | M32x1.5 | 42 |110|100| 5 | 36 | 12| 37 | 45 |mie| 6309zz | 630722 631227 621222
180M | 39 |121]|180| 20 [221]| 145 |710|160| 70 | M32x1.5 | 48 [110]|100| 5 | 36 | 14| 42.5 | 51.5| m1s| (631122C3) | (63102ZC3) 2255C | 149 |225( 28 | 289.5 | 185 | 816 |199| 90 | M50X1.5 | 60 [140]|125|7.5( 42| 18 | 53 | 64 |[M20
(63122zc3) | (621222C3)
180L | 39 [121[180| 20 |221| 145 [710] 160| 70 | mMa2x1.5 | 48 |110{100| 5 | 36 | 14| 425 |s1.5|mis| 63112z | 631022 2290\ | 1301 225] 28 | 2093  1B5:| (817 [199] 80 | MOX1S | 56 J110[100] 3 |42 ] 18 |42 |0 M 621322
Note : 1. Tolerance of shaft end diameter D : k6. 225MC | 149 |225]| 28 | 2895 | 18.5 841 [199| 90 | M50X1.5 | 60 |140|125| 7.5 42 18 53 | 64 (M20
2. Tolerance of shaft center high H: +0, -0.5. Note : 1. Tolerance of shaft end diameter D : m6.
3. Tolerance of N : j6. 2. Tolerance of shaft center high H: +0,-0.5.
4. Bearing No. In( ) is for 2P. 3. Tolerance of N : j6.
5. T-Box Assy with a cable grand body. 4. Bearing No. In( ) is for 2P.

5. T-Box Assy with a cable grand body.

78 79



5N Outline (TEva) 52 & Outline (Teva) TECO

ﬁl‘ﬁéﬁf%ﬁﬂ' 2SR B35 (IM2001) Ql‘ﬁéﬁﬁ%ﬁﬂ'@ A B35 (IM2001)

AC L o]
AG
AS
AG L [s]
B—¢8 | T
J‘\—SI J[Holes _— LL uB H T
: 24 & R a (] \
i BC) _— e -
; @
- ]
EB ', : - i - -
|
T ——— ——— I Lo 1y
EG - : F ® < L] 1
E i
} A n . B = ]I l L
X II""‘Il"" | ; B e ookt ] [T —— PTEITT
7 Coh “;- % o A A XA LA B A BA],I |
T T T vl- + -5 A \ C B
BA [BA ] AB £ 0.ES
LA e 3 B —7 | BE @K HOLES
BE D DB
W [

Dimension in mm Dimension in mm

Output (kW) FRAME FLANGE DIMENSION Output (kW) FRAME FLANGE DIMENSION

BA BA' BB BC A AA AB AC AD AG AS B BA BA' BB BC C

2P 4P BP SIZE 2P 4P 6P SIZE EA | LEE MR TNE B S

75| — | --- |280SA| 22 |140|500(450]|550|18.5( &5 |457|110|560|550(417|249| 1245 |368|110|110]|445| 48 | 190

-—- | 75| 45 [2808B| 22 |140|500|450)|550|18.5| 5 [457|110|560(550(417(249| 1245 |368)|110)|110|445| 48 [190

SHAFT EXTENSION BEARING

Q| —| - |280MA| 22 |140]|500|450|550|18.5| 5 |457|110]|560|550|1417(249| 1245 |419|130]|137|495| 48 | 190

FRAME E EB EF EG G GA DB DRIVEEND COFFOSITE

Sl DRIVE END

-— | 90 | 55 [280MB| 22 |140|500(450|550(18.5| 5 |457|110|560(550(417|249| 124.5 |419[130(137[495| 48 | 190

SHAFT EXTENSION BEARING

250MA | 168|250| 30 | 328| 24 |977.5| 224|105 Me3X1.5 | 60 |140|125|7.5| 42 | 18 |53 | 64 [M20| 6313C3 6313C3
FRAME H OPPOSITE
250MC | 168|250 30 [328] 24 | 977.5(224|105| Me3x15 | 65 [140[125|7.5| 42 | 18 | 58 | 69 |m20 6315 6313 E EB EF EG F G GA DB pRVEEND
Note : 1. Tolerance of shaft end diameter D : m6. SIZE HRIEERE
2. Tolerance of shaft center high H : +0, -0.5. 280SA |280| 35 348 | 24 | 10375 |224|140| Me3x1.5| 65 |140|125| 75| 40 | 18 | 58 | 69 [m20| 6316C3 | 6314C3
3. Tolerance of N : j6. 280SB [280| 35 | 348 | 24 [ 10375 |224|140|M63X1.5| 75 | 140|125| 7.5| 40 | 20 | 67.5|79.5| M20| 6318C3 | 6316C3
4. T-Box Assy with a cable grand body. 280MA | 280 35 348 | 24 | 10875 |224|140| m63X1.5| 65 |140|125| 75| 40 | 18 | 58 | 69 [M20]| 6316C3 | 6314C3

280MB |280| 35 348 | 24 | 1087.5 |224|140| M63X1.5( 75 [140|125(7.5| 40 | 20 [67.5|79.5| M20| 6318C3 | 6316C3

Note : 1. Tolerance of Shaft End Diameter D; m6
2. Tolerance of Key Width F. h9
3. Tolerance of Shaft Center Height H. +0, -1
4. Tolerance of N:j6

5. T-Box Assy with a cable grand body.

80 81



5N Outline (TEva) 52 & Outline (Teva) TECO

MR ZERR~TE REEHRH: B35 (IM2001) IMERZRR~TE ZEEH: B35 (IM2001)
%\". BC e \ e = I %% i
EF] EE L |—'_ i '_'J‘:q :ﬂ &
— T
" T j ol
i ) isme
e — L/ : ; L-lal
Lal | BA l_Ba 4~ 4K HOLES A
= Bss BB \
\4~$K HOLES
Dimension in mm Dimension in mm

Output (kW) FLANGE DIMENSION Output (kW) FRAME FLANGE DIMENSION

BB BC BE A AA AB AC AD AG AS B BA BA' BB BC BE

2P 4P IA LE M N P S 2P 4P 6P SIZE LA LE M N

110f - | - | 315SA | 25 |140|600|550|660| 24 | 6 |508(115|615|660| 491.5 |318]|144)|406|210| 210|620 | 53 | 106
408|184 508(335| 335 | 870 | 68

- | 110 75 | 3158SB | 25 |170|600|550|660| 24 | 6 |508|115|615|660| 491.5 |318|144|406|210| 210 (620 | 53 | 106

___|160]110| 315LB | 30 | 170|600(550(660( 24 | 6 |508|150|650| 682 578 (408|184 |508|335) 335|870 | 68 | 130
200|132

132 - | - | 315MA | 25 | 140|600|550|660| 24 | 6 |508(115|615|660| 491.5 |318]|144)|457|240| 240 | 670 | 53 | 106

--1132| 90 | 315MB | 25 | 170(600|550(660| 24 | 6 |508|115|615|660| 491.5 |318|144|457|240( 240 | 670 | 53 | 106
L e e e e e e e e e e e e e e e e SHAFT EXTENSION BEARING

SHAFT EXTENSION BEARING

FRAME C| H HA HE K D E EB EF EG F G GA DB DRVEEND O TOSITE

SIZE DRIVE END

PRI EB EF EG F G . DRIVEEND OFPOSITE

SIZE DRIVE END

315LA |216|315| 45 |474| 28 | 1484 |372(200|M63X1.5| 65 [140(125|7.5| 40| 18 | 58 | 69 |M20| 6316C3 | 6314C3

315SA |216|315| 35 |394| 28 | 1216 |288|180(M63X1.5| 65 [140]|125|7.5]) 40| 18| 58 | 69 |[M20| 6316C3 | 6314C3 31508 | 216|315| 45 |474] 28 | 1514 |372] 200| me3x15] 80 [ 170]160] 5 | 40| 22 | 71 | 85 | m20| 632003 | 6318C3

3155B |216|315| 35 |394| 28 | 1246 |288|180(M63X1.5| 80 [170|160| 5 | 40| 22 | 71 | 85 |[M20| 6320C3 | 6316C3 Note:s: 4. Tolerance of Bhdft End Diameler Di mé

: . 20 :
315MA |216(315| 35 [394| 28 | 1266 |288|180|M63X1.5| 65 |140|125(7.5| 40 | 18 | 58 | 69 (M 6316C3 | 6314C3 2. Tolerance of Key Width F. h9

315MB [216|315| 35 [394| 28 | 1296 |288)180|M63X1.5| 80 (170|160 S5 | 40 | 22 | 71 | 85 |M20| 6320C3 | 6316C3

3. Tolerance of Shaft Center Height H. +0, -1

Note : 1. Tolerance of Shaft End Diameter D. m6
4. Tolerance of N :js6

2. Tolerance of Key Width F. h9
5.T-Box Assy with two cable grand bodies.
3. Tolerance of Shaft Center Height H. +0, -1
4. Tolerance of N: js6
5.T-Box Assy with two cable grand bodies.

82 83



A2 E Outline (Teva)
MR RHE

ZEAHI: B35 (IM2001)

Dimension in mm

Output (kW) FRAME FLANGE DIMENSION
A AA AB AC AD AG AS
2P 4P 6P SIZE LA EEIM|[|N | P | & | T
250 -~ | -— | 355MA | 30 [140|740|680|800| 24 | 6 |610|150]|750|810|633|408( 184 560 330| 330 | 860 | 48 | 130
- | 250 ;3 355MB | 30 |170(740|680(800| 24 | 6 |610(150|750| 810|633 (408|184 560 330| 330 | 860 | 48 | 130

355MA | 254 355| 45 |529] 28 1525 | 372|230 M72X2

D

75

SHAFT EXTENSION

| BEE (= P Co NP

140

125

7.5

40

20

G

67.5

GA

79.5

DB

M20

BEARING

DRIVE END

6317C3

OPPOSITE

DRIVE END

6317C3

355MB | 254|355 45 |529] 28 | 1555 |372|230| M72X2

95

170

160

48

25

86

100

M24

6322C3

6322C3

Note : 1. Tolerance of Shaft End Diameter D. m6
2. Tolerance of Key Width F: h9

3. Tolerance of Shaft Center Height H. +0, -1
4. Tolerance of N : js6

5.T-Box Assy with two cable grand bodies.

84

42 B Outline (TEva)
M RRERE

TECO

L&A B35 (IM2001)

| TN
| _Ba |

Dimension in mm

Output (kW) FRAME FLANGE DIMENSION

A AA AB AC AD AG AS BB BC
LEC M | N || R S| T

2P 4P 6P | BIZE || LA

140]740(680)| 800 24 330] 330 | 910

6 |610|150|750|810| 633|408 | 184 630 330) 330 | 910 | 48

--|315(250| 355LB | 30 | 170|740|680|800| 24

SHAFT EXTENSION BEARING
AN C8 B A, (RE I E EB EF EG F G GA DB DRVEEND OFTOSITE
DRIVE END
355LA |254|355] 45 |529| 28 1575 | 372|230 M72X2 | 75 | 140|125 7.5] 40 | 20 | 67.5| 79.5|M20| 6317C3 6317C3
355LB |254|355| 45 |529( 28 | 1605 |372(230| M72X2 | 95 (170|160 5 | 48 | 25| 86 | 100 | M24| 6322C3 6322C3
Note : 1. Tolerance of Shaft End Diameter D. m6
2. Tolerance of Key Width F; h9
3. Tolerance of Shaft Center Height H. +0, -1
4. Tolerance of N:js6
5.T-Box Assy with two cable grand bodies.
85



5N Outline (TEva) 52 & Outline (Teva) TECO

ﬁl‘ﬁéﬁf%ﬁﬂ' 2aEFH: V1 (IM3011) Ql‘ﬁéﬁﬁ%ﬁﬂ'@ AR V1 (IM3011)

o e #
i i | o = o L
4 o | S
fiy - 3 |
= = | [N mLe 9z
i 4= i 1]
g = FIG. 1 FIG. 2 o7 T s FIG. 4
. ' L8 [ [ FIG. 3 8 fate]
) i il en
al &N 53
&P D
T s e —HE
BE S5 HOLES BHE . !
o 4-$5 HOLES
4—$S HOLES ey e
olol- . U} ‘4":3,‘,
'C*tw‘ <
<

Dimension in mm

Output (kW) ~ FRAME FIG. FLANGE DIMENSION Output (kW)  FRAME FIG. FLANGE DIMENSION
2P 4P 6P SIZE NO. LE M N P 8 6P  SIZE  NO. LE M N P 8
goM | 1 | 12| 40 | 165] 130|200 12 | 35 177 | 152|110| 55 | 115 | e85 | 319 — | 3| —| 100L | 4 | 16| 60 (215|180|250|14.5| 4 |288.5|183.5| 127 |63.5| 143 | 84 | 472|120 | 50
1.1|0.75| -
4 | 4|22 112m | 3 [ 15| 60 | 215| 180|250 (145 4 [306.5 191 | 127 [ 63.5(150.5| 98 | 464 | 120 | 50
15| 1.1 075 90s 12 | 50 | 165|130 | 200 | 12 [ 3.5 271 | 162|110 55| 125 | 92 | 4095
2 55|55 3
22(15[11] 9oL 12 | 50 | 165|130 | 200 | 12 [ 3.5 2711 |162|110| 55| 125 | 92 | 4095 76| | | 1328 16 | 80 | 265|230 300|145 4 | 360 [208.5| 127 [63.5( 168 | 95 | 547 | 120 | 50
: 4
SHAFT EXTENSION BEARING — 75| 4
o | - | 55| 132m 16 | 80 | 265|230 300|14.5| 4 | 360 |208.5| 127 | 63.5| 168 | 95 | 547 | 120| 50
FRAME o OPPOSITE :
EB EF EG G GA DRIVE END

SHAFT EXTENSION BEARING

SIZE DRIVE END

FRAME EB EF EG F G (GA DB DRVEEND FTUSTE

8oMm 110| 40 | M20X1.5 | 19 | 40 | 32 | 4 16| 6 | 155 | 21.5 | M6 | 6204ZZ 6204227

o e LT Ll T

90s 110 40 | M20X1.5 | 24 | 50 | 40 | 5 | 19| 8 20 27 | M8 | 6205ZZ | 6205ZZ

9oL | 110] 40 [ mM20x15]| 24 | 50 | 40| 5 | 19| 8 | 20 | 27 | m8| 62052z | 62052z 100L | M2Sx1.5| 28 | 60 | 80| & | 22 | '8 | 24 | 31 [MI0] 620622 | 620627

Note : 1. Tolerance of shaft end diameter D: j6. 112M M25X1.5| 28 | 60 [ SO | 5 | 22 | 8 [ 24 | 31 |M10| 6306ZZ 630622

L 1328 M25X1.5| 38 | 80 | 70 S 28 | 10 | 33 | 41 |[M12| 6308ZZ 6306ZZ
2. Tolerance of N : j6.

132M M25X1.5| 38 | 80 | 70 | S5 | 28 | 10 | 33 | 41 |M12| 6308ZZ 6306ZZ

3. T-Box Assy with a cable grand body.

Note : 1. Tolerance of shaft end diameter D : ¢ 28 :j6, ¢)38:k6 .

2. Tolerance of N : j6. 3. T-Box Assy with a cable grand body.

86 87



42 E Outline (TEva)
MG RRERTE

o
L ]
UB
=3 s |
2 —
<=
—
] '
- &l 34 o FIG 5
‘H—‘I:l
ol ¢N
pP
AD
HE
T r 4—-¢3 HOLES
|
2 P
J i
o
<< |gn =
-
&

Output (kW) FRAME FIG. FLANGE DIMENSION

4P 6P SIZE NO. LA LE M N H S

ZEAR: V1 (IM3011)

FIG. &

AC

4—¢85 HOLES

Dimension in mm

1; 11 || S 160M " 15 [ 110 (300 | 250 350 | 18.5| S |427| 2435 | 166 | 83 | 195 155|652 | 160 | 60
18:5] 15 | 11 160L 15 [ 110 300 | 250 ( 350 |18.5| S5 |427| 2435 | 166 | 83 | 195 155 | 652 | 160 | 60
22 |18.5] -~ 180M 15 [ 110300 | 250 ( 350 |18.5| S5 |476| 2695 | 166 | 83 | 221 160|710 160 | 70
- | 22|15 180L ° 15 | 110 | 300 | 250 | 350 | 18.5| 5 |476| 269.5 | 166 | 83 | 221|160 710| 160 | 70

SHAFT EXTENSION BEARING
ERANG D E EB EF EG F @ 'GA DB DRIVEEND 9FFOSIE
SIZE DRIVE END
160M | M32x1.5 | 42 | 110|100| 5 [ 36 | 12 | 37 | 45 |mM16| e300zz | 63072z
160L | M32x15 | 42 |110|100| 5 | 36 | 12 | 37 | 45 |m16| 6300zz | 63072z
180M | M32x1.5 | 48 | 110[100| 5 | 36 | 14 |42.5|51.5|m16| (631122C3) | 63102203
180L | m32x1.5 [ 48 | 110|100| 5 | 36 | 14 |42.5[51.5|m16| 63112z | 63102z

Note : 1. Tolerance of shaft end diameter D : k6.
2. Tolerance of N : jB.
3. Bearing No. In ( ) is for 2P.

4. T-Box Assy with a cable grand body.

88

42 B Outline (TEva)
M RRERE

uB >

Fla 7

LL
|

HH

LE
<8
EF| EB
-
| ES
L E |
LA

4—#5 HOLES

TECO

=Z#HAH: Vvl (IM3011)

Dimension in mm

Output (kW) FLANGE DIMENSION
2P 4P 6P T R S
30 185
s [ 30|55 2000 | 7 |17 | 110|350 300|400| 185 | 5 | 5765 | 332 | 215 1075 [2715 185 7645
w | 37| = | 225s¢ 20 | 140| 400|350 | 450| 185 | 5 | 652 | 3515 | 215| 1075 |2895| 1865 816
45 | | | 225MA | 8 | 20 | 110 400|350 | 450| 185 | 5 | 652 | 3515 | 215| 1075 |2805| 1865 811
w | 45| 30 | 225mcC 20 | 140| 400|350 | 450| 185 | 5 | 652 | 3515 | 215| 1075 |2805| 1865 841
SHAFT EXTENSION BEARING
EF EG G DRIVE END OPPOSITE
DRIVE END
200. |199| 80 | Msox1.5| 55 [110]100| 5 | 42| 16 | 49| 50 | mo2o |(631222C3)| (621222C3)
63122z | 621222
2255c | 199| 90 | msox15 | 60 [140|125| 75| 42| 18 | 53| 64 | m20
(631222C3) | (621222C3)
225MA | 199 | 90 | msox15 | 55 | 110 100| 5 | 42| 16 49| s9 | m20
63132z | 621322
225MC | 199 | 90 | mMsox1.5 | 60 | 140|125| 75| 42| 18 | 53| 64 | m20

Note : 1. Tolerance of shaft end diameter D : m6.
2. Tolerance of N : j6.
3. Bearing No. In ( ) is for 2P.

4. T-Box Assy with a cable grand body.

89



glx}f/ Z] Outline (TEv4) I‘}f/ Z| Outline (TEv4) T Eco

ML R R FER~TE 357 V1 (IM3010) MR ZERTE 2 V1 (IM3011)

8~98 HO

L
il
m
1l

s

—

:
AG

Fi
-
L A

H H

— = F
ail bl gl i
£ | =1
a _lrp //',\,1;_’.—\,.-1:
w| AN \&?f -
3P @ O]

Dimension in mm Dimension in mm

Output (kW) FRAME FIG. FLANGE DIMENSION Output (kW) FRAME

2P | 4P 6P SIZE NO. LA LE | M N P

55 | — [ — | 250MA 22 [140| 500|450 | 550|185 5 |[738| 4035 | 249| 1245 | 328 2315 977.5 FET e e 280SA 22 | 140 | 500 | 450 | 550 (18.5( 5 | 717 | 417 | 249 (124.5( 348 | 238 | 1037.5

-- | 55 | 37 | 250MC 22 | 140|500 | 450 | 550 | 18.5| 5 | 738 403.5 | 249 124.5 328 | 2315 977.5 - | 75 | 45 280SB 22 | 140 | 500 | 450 | 550 | 185 | &5 | 717 | 417 | 249 |124.5( 348 | 238 1037.5

SHAFT EXTENSION BEARING 90 | -- == 280MA 22 | 140 | 500 | 450 | 550 | 18.5| 5 | 717 | 417 | 249 |124.5| 348 | 238 1087.5

FRAME LL O D E EB EF EG F G GA DB DRIVEEnp OPPOSITE = | 90 | 55 280MB 22 | 140 | 500 | 450 | 550 | 185| 5 | 717 | 417 | 249 |124 5| 348 | 238 1087.5

DRIVE END

BEARING

250MA | 224 | 105 | Me3x1.5 | 60 | 140|125]| 75| 42 | 18 | 53 | 64 | m20 | 63133 | e313C3 OPPOSITE
DRIVE END

250MC | 224|105 | Me3x1.5 | 65 | 140|125| 75| 42 | 18 | 58 | 69 | mM20 | 6315 6313 SREBD

Note : 1. Tolerance of shaft end diameter D : m6. 280SA | 224 | 140 | me3x15 | 65 | 140 | 125| 75| 40 | 18 | 58 | 69 | m20| 6316c3 | 6314C3

2. Tolerance of N : 6. 280SB | 224 | 140 | me3x15 | 75 | 140|125 | 75| 40 | 20 | 675|795 | m20| 6318c3 | e316C3

3. T-Box Assy with a cable grand body. 280MA | 224 | 140 | me3x15 | 65 | 140 | 125| 75| 40 | 18 | 58 | 69 | M20| 6316C3 | 6314C3

280MB 224 | 140 | M63X15 | 75 | 140 ([ 125 | 7.5 | 40 | 20 | 67.5|79.5| M20| 6318C3 6316C3

Note : 1. Tolerance of Shaft End Diameter D: m6
2. Tolerance of Key Width F. h9
3. Tolerance of N :j6

4. T-Box Assy with a cable grand body.
90 91



IMEZE
SN RE

FR~THE

Outline (TEv4)

=Z#FFH: V1 (IM3011)

Dimension in mm

Output (kW) FRAME FLANGE DIMENSION
SIZE LE M N P
110 - - 3158A 25 | 140 | 600 | 550 | 660 | 24 6 | 660 [ 4915 | 318 | 144 | 106 | 394 | 268 [1216| 288 | 180
== | 110] 75 3158B 25 | 170 | 600 | 550 | 660 | 24 6 | 660 | 491.5 | 318 | 144 | 106 | 394 | 269 [1246| 288 | 180
132 ] - e 315MA 25 | 140 | 600 | 550 | 660 | 24 6 | 660 [ 491.5 | 318 | 144 | 106 | 394 | 269 | 1266| 288 | 180
- | 132 80 315MB 25 | 170 | 600 | 550 | 660 | 24 6 | 660 | 491.5 | 318 | 144 | 106 | 394 | 269 | 1296| 288 | 180

SHAFT EXTENSION

EBS NER | CEG -

BEARING

DRIVE END

OPPOSITE

DRIVE END

3158A MB3X1.5 65 | 140 | 125 | 7.5 | 40 18 58 69 | M20 6316C3 7314B
3155B M63X15 | 80 | 170 | 160 | 5 40 2 | M 85 | M20 6320C3 6316C3
315MA M63X1.5 65 | 140 | 125 | 7.5 | 40 18 58 69 | M20 6316C3 7314B
315MB M63X1.5 | 80 | 170 | 160 | 5 40 2|7 85 | M20 6320C3 6316C3
Note : 1. Tolerance of Shaft End Diameter D: m6

92

2. Tolerance of Key Width F. h9
3. Tolerance of N :js6

4. T-Box Assy with two cable grand bodies.

SMEZE
SREERTE

A

Outline (TEV4)

LL
BE
=

g
LA

[ =

LE

EF| EB
3
s

E

HH

TECO

Z&RAHN: V1 (IM3011)

AC
AG

AS

Dimension in mm

Output (kW) FRAME FLANGE DIMENSION
2P 4F 6P 5 LE M N P
;gg - -— 315LA 30 | 140 | 600 | S50 | 660 | 24 6 682 | 578 | 408 | 184 | 130 | 474 | 284 | 1674 | 372 | 200
o ;% 1;3 3158 | 30 [ 170 | 600 | 550 | 660 | 24 | & | 682|578 | 408 | 184 | 130 | 474 | 284 | 1704 372 | 200
SHAFT EXTENSION BEARING
EB EF EG orRivE Enp OPPOSITE
DRIVE END
315LA M63X1.5 65 | 140 | 125 7.5 40 18 58 69 | M20| 6316C3 7314B
315LB M63X1.5 80 | 170 | 160 5 40 | 22 | 71 85 | M20 | 6320C3 6316C3
Note : 1. Tolerance of Shaft End Diameter D: m6
2. Tolerance of Key Width F: h9
3. Tolerance of N : js6
4. T-Box Assy with two cable grand bodies.
93



4 M & Outline (TEva4) 4 & Outline (TEva) TE co

5’]‘%&&%‘%Rﬂ' 3EHH: V1 (IM 3011) I‘ﬁﬂ)—ib’tzéﬁ_f. ZAH: V1 (IM3011)

AC
AG

LL
BE
=¥
BNE
1
|

LL
BE
T

HH

HH

i - }
o =l ™ ' j { _1.
3 ) P © ol a[: J‘ 4 < 8=45 HOLES
o]
:,){ i SI da
AN il a|
bP [ols]
fa1d
Dimension in mm Dimension in mm

Output (kW) FRAME FLANGE DIMENSION Output (kW) FRAME FLANGE DIMENSION
AD AG AS BE

L= M N £ 2P 4P 6P SIZE LA LE M N P

250 | - - 355MA 30 | 140 | 740 | 680 | 800 | 24 6 |1026] 633 | 408 | 184 | 130 | 529 | 302 [1525| 372 | 230
315 | — -—- 355LA 30 | 140 | 740 | 680 | 800 | 24 6 |1026| 633 | 408 | 184 | 130 | 529 | 302 | 1575| 372 | 230
- | 250 ;gg 355MB 30 | 170 | 740 | 680 | 800 | 24 6 |1026| 633 | 408 | 184 | 130 | 529 | 302 | 1555| 372 | 230
- | 315 | 250 355LB 30 | 170 | 740 | 680 | 800 | 24 | 6 |1026| 633 | 408 | 184 | 130 | 529 | 302 | 1605 372 | 230
SHAFT EXTENSION BEARING
EB EF EG DRIVE END OPPOSITE SHAFT EXTENSION BEARING
TRVEDD EBN NERN BEC 3 priveenp OFTOSITE
355MA M72X2 75 | 140 | 125 | 7.5 | 40 20 |67.579.5|M20| 6317C3 7317B . DRIVE END
355MB M72X2 95 | 170 | 160 5 48 25 86 | 100 | M24 | 6322C3 7322B 355LA M72X2 75 | 140 | 125 | 7.5 | 40 20 | 67.5|79.5| M20| 6317C3 7317B
Note : 1. Tolerance of Shaft End Diameter D: mé 355LB M72X2 95 | 170 | 160 | 5 48 | 25 | 86 | 100 | M24 | 6322C3 73228
2. Tolerance of Key Width F. h9 Note : 1.Tolerance of Shaft End Diameter D: m6

2. Tolerance of Key Width F. h9
3. Tolerance of N :js6
4.T-Box Assy with two cable grand bodies. 4.T-Box Assy with two cable grand bodies.

3. Tolerance of N :js6

C-flangeiz =R~ %

=]

HLES
FRAME SIZE

80 100 80 120 M6
90 115 95 140 M8
100 130 110 160 M8
112 130 110 160 Ma
132 165 130 200 M10

94 95



	封面封底
	企业简介
	0-1
	2-3
	4-5
	6-7
	8-9
	10-11
	12-13
	14-15
	16-17
	18-19
	20-21
	22-23
	24-25
	26-27
	28-29
	30-31
	32-33
	34-35
	36-37
	38-39
	40-41
	42-43
	44-45
	46-47
	48-49
	50-51
	52-53
	54-55
	56-57
	58-59
	60-61
	62-63
	64-65
	66-67
	68-69
	70-71
	72-73
	74-75
	76-77
	78-79
	80-81
	82-83
	84-85
	86-87
	88-89
	90-91
	92-93
	94-95

